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- ['Note : Attempt any four questions. .
| Assume suitablemissing data, ifany. .
Q.1 (a) An angel investor.decided. to invest in a robotic manufacturing -
‘' “company that was seeking to create a particular type of robot. The
investment involved two parts. First, the investor extended a loan @12%
. pa. Second, the investor purchased a portion of the ‘company against
“INR 5 crore. Given the risks in the sector, investors are willing to have
_an exit plan in the event their investment does not live up 1o their
" expectations. What are the alternatives available to him? [5] [CO1]
ning Vto'_starrt‘a lifestyle clothing brand. She
needs some funds (appfox. SL on Qfgcnt basis) for purcha_s;ing the raw -
_material and manufacturing the sample products. After testing the
prototype in the market, she will incorporate her business and will also
need INR 5 Lakhs for pur,_'chasing of fixed assets and INR 6 Lakhs for

ﬁ_nancing the working caf@iiai-aﬂd othcr'legal'compliances (such as
| : 'incorporation, GST, Laber cornpliances, - etc). What -are the

- ’_alte'_rn'ative(s) available to her to raise the initial funding. Will raising
funds through crowdfunding platform be a good idea or not? What are
- the different types of crdefimd‘iri’gfmethqdé? ' [5] [CO3]
- Q2Ms Meera, an IIM alumnus, has started a g'a',ming console busiﬁés"s
along with her friends. She has validated her product and has few early
customers. She is willing to raise funding at this stage.
© A. What is the type of funding required at this stage? Brief out the

steps she is required to follow to raise:the required funds.
ot ' : [7] [CO2]

. LB is-believed that “the qqélity of.deal fis_alw,a‘ys p_rb_pmt_io_nal to
credibility which_ ari -individual possess”. What" constitute an- - - -
ndividual credibility? . - . . . - -0 (coul . .. -

Q.1 (b) Ms. Yasmin is plan
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‘ | ' - t is
Q.3 Ms. Heena is planning to start a lifestyle clothing brand bu

i i our
unaware of legal compliances she is required to follow. In y ‘

: L. , . S, al’ld‘
* viewpoint, what ‘are the important compliances (laws, rule

. f before starting a business?
reg.ple'ltlonS) a. pefr%;on‘ should.be a\lJvarc.a.o efo e [IOJ[C04]

Q.4(a) Mr. Rahul is Working on an idea of providing athleisure wear to

youngsters. For launching his business, he needs to raise funding ?f 50
akhs from external sources. While preparing pitch-deck and business
Plan to procure the required funds, he is confused with respect to the

b

-

out the important components of 4 business plan, [5]([co1], [coz]-

Q.4(b)Mr. Tarun, along with his friends Rahul and Daksh, has recently
started business of WER DEVELOPMENT. They are planning to
choose a right kind of legal structure to formalise their business. What

investor to rajse the funding. Imagine that investor has
$10 Million for 10 Equity with a conditiop to keep pr
shares for Employees as ESOp. Prepare a capitalisati

\
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__Gthygtn__ SEMESTER ' ! B.Yech (Mine

END SEMESTER EXAMINATION May-2023
MGT 27 Management Accounting

Time: 3:00 Hours Max. Marks:50

Note :Answer any three out of question no. 1,23 & 4.
Question 5,6.are compulsory PR ‘
Marks are indicated along with each question.

Basic Calculatoris allowed. e Ve
Assume suitable missing data, if any:

Q.1 The following information is available for Mandalay Company:

ACTUAL
Materials: 15,000 pounds purchased at $6 per pound; used 12,500 pounds
Direct labor: 2,000 hours at $10 per hour

Units produced: 500

STANDARD
Materials: 30 pounds per unit at a price of $7 per pound

Direct labor: 4 hours per unit at a wage rate of $11 per hour
a) Determine the appropriate Material Variances (5 Marks) (CO4)
b) Determine the appropriate Labour Variances (5 Marks) (CO4)

Q.2 Assembly of product P1 requires two units of component X, one unit
o units of component Z. Job produced 200

of component Y, and tw
units of P1. The following information pertains to material variances for

this job, analyzed by component:

COMPONENT
X Y Z
Price variance 1000U 750F 450U

Quantity variance 2500 U 1000U 800 F

P.T.O.

\o&
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The actual material prices were $2 more, $3 less, and $1.50 more per unit
for components X, Y, and Z, respectively, than their standard material
prices per unit.

a. Determine the number of materials units consumed of each type of
component. (5 Marks) (CO4)

b. Determine the standard materials price per unit of each type of
component. . (5 Marks) (CO4)

Q.3 Fab Motors has manufactured compressor parts at its plant in Pitcairn,
Indiana, for the past 25 years. An outside supplier, Superior Compressor
Company, has offered to supply compressor model C38 at a price of $200
per unit. Current unit manufacturing costs for C38 are as follows:

Direct materials  $80
Direct labor” $60
Variable overhead $56
Fixed overhead $17

Total costs $213
a) Should Superior Compressor’s offer b accepted if the Pitcairn plant
is presently operating below capacity? (5 Marks) (CO3)

b) What is the maximum acceptable purchase price if the plant
facilities are fully utilized at present and if any additional available

capacity can be deployed for the production of other compressors?
(5 Marks) (CO3)

Q.4 a) Worthington Company makes cash (20% of total sales), credit card

(50% of total sales?, and account (30% of tota] sales) sales. Credit card
sales are collected in the month following the sale, net a 3% credit card

(10 Marks) (CO4)
WORTHINGTON COMPANY PROJECTED SALES . (o9

MONTH SALES MONTH SALES .

January $12,369,348 July . $21,747 839

February '$15,936,293 August $14,908.534

2
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March $13,294,309 September $11,984,398
April $19,373,689 October $18,894,535
May $20,957,566 November $21,983,545

December  $20,408,367

June  $18,874,717
Prepare a statement showing the cash expected each month from the

collections from these sales.

Q.5 a)*“When production capacity is constrained, determine what products
to make by ranking them in order of their contribution per unit.” Do you

agree with this statement? Explain. (5 Marks) (CO1)

b) “When production capacity is limited and it is possible to obtain
additional customer orders, a firm must consider its opportunity costs

to evaluate the profitability of these new orders.” Do you agree with
this statement? If so, what are the opportunity costs in this context? (5

Marks) (CO1)

Q.6 State True or False with brief explanation. (10 Marks) (CO1, CO2)
a) Management Accounting is directed towards external users of

information.
b) Management Accounting facilitates optimum use of scarce resources.

c) The sales budget is the basis for all the other operating budgets.
d) Zero-based budgeting questions each activity in the current budget and
determines whether an activity should be supported as is re-engineered or

eliminated.
e) If the actual labour rate was more than the standard rate, the labour rate

variance is unfavourable.

1) A favourable variance is not always indicative of good performance.

g) With the help of CVP analysis, it is possible to decide which

product is most profitable and least profitable. |

h) Increase in the price of the product manufactured is not the only way
that the profits could be maximised or retained. ~

1) In rpake or buy decision, it is profitable to buy from outside firm when
§upp11er’s price is below firm’s own total costs.

J) All fixed costs are sunk costs but all sunk costs are not fixed costs

END
3



03

Total no. of Pages:01 Roll no..............

SECOND SEMESTER MBA

END TERM EXAMINATION May -2023

MBA 102 HUMAN RESOURCE MANAGEMENT

Time: 03:00 Hours ‘ - : Max. Marks: 50

Note : ATTEMPT ANY FIVE QUESTIONS.

All guestions carry equal marks.
Assume suitable missing data, if any.

Ql.

Q2.

Q3.

Q4.

. Q5.

Q6.

Explain how human resources management can be instrumental in helping -
a company create competitive advantage. [10 MARKS] [CO 1]
You have about 32 employees working in your factory. Create a list of five
online sources you could use to provide training to them, at no cost to you
or to them. [10 MARKS] [CO4]
Identify the issues pertaining to non-harmonious relations in industry. Give
remedial measures in accordance to the labor laws that you have studied.

[10 MARKS] [CO 3]
Several years ago Walmart instituted a new employee scheduling system that
makes it more difficult for its employees to know for sure what hours they
would be working. Basically, the store supervisor calls them at the last
minute if there’s an opening that day. Based on what you read in human
resource management course, is the new system ethical? Why or why not?
Is it fair? What would you do if you were a Walmart employee?

[10 MARKS] [CO3]
Compensation equity: Is compensation judged to be fair? Discuss various
compensation equity issues. (10 MARKS] [CO2]

Briefly discuss and give examples of at least five common interviewing
mistakes. What recommendations would you give for avoiding these
interviewing mistakes? [10 MARKS][CO1]
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2nd SEMESTER
MBA

End Term Examination o, L , ( May-2023
MBA-104  Business Research Methods
Time 3:00 Hours -+ Max. Marks: 50
Note: Attempt any Five questions. ' R 7
All questions carry equal marks.

1. Attempt any-two of the following
(a). Highlight the difference between fundamental vs applied
research. Where would you keep the kind of research work
carried out by most of the commercial research agencies in

business and management? (COo1)

(b) “Well begin is half done”. Comment in context of

importance and role of defining a research problem.
(C01,2)

(c). Differentiate between stratified vs quota sampling.
| (CO2,3)

-

2. One Nation One Election (ONOE)

From the past few years, it is observed that elections take place
frequently at different level of Indian federal structure. According
to NITI Aayog, in the last 30 years, there is hardly any year
without an election to either a State Assembly or to Lok Sabha or
both. Any election requires enormous efforts and resources

 leading to the idea of ONOE. The idea of ONOE has got a mixed
response from'the various stakeholders.

ho &

You are required to conduct a research study to understand the
voter’s attitude and perception towards the idea of ONOE.

In this context, write suitable research methodology highlighting:
resear.ch approach, design, data  collection plan, sampling
technique and sample lsize which you would like to use.

, | - (CO34)
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Chief Technology Officer (CTO) of a Public Sector Enterprise
(PSE) observed that a significant percentage of employees are not
using e-office which is against the revised manual of the
organization. The CTO approaches you to design a questionnaire
to understand the reasons of poor adoption of e-office in light of
various demographic, social and professional variables. Design a

suitable questionnaire as per the mandate of the research problem
(CO 2,3)

In May 2016, Ministry of Petroleum and Natural Gas (MOPNG),
introduced the ‘Pradhan Mantri Ujjwala Yojana’ (PMUY) as a
flagship scheme with an objective to make clean cooking fuel
such as LPG available to the rural and deprived households which
were otherwise using traditional cooking fuels such as firewood,
coal, cow-dung cakes etc. Usage of traditional cooking fuels had
detrimental impacts on the health of rural women as well as on
the environment. Approximately 8 crores LPG connections have
been released by 2019 to the target beneficiary of this scheme. As
a research intern, you are required to conduct a study to carry out
an impact analysis of this scheme especially the changes in socio- .
economic, health and environmental perspective. It is an all-India
level study.

Exp‘lain the data collection plan that you would like to use.
(CO 3)

A survey was conducted among 200 school students. The basic

* objective of the survey was to understand the relationship of

performance in science with gender (captured as 0,1 for female

“and male respectively), reading and writing ability, score in
-.rvnatlll._em'atics and social science.. Following is the output of
multiple linear regression analysis: - = |

Model Summary

Model |R R Square |Adjusted ~ R|Std. Error of
| - : |Square -~ |the Estimate

1 727° 528 5167 6.89000

a. i :
Predlcto?s. (Constant), female, math score, social studies
score, reading score, writing score

S PR



ANOVA* :
Model Sum of]|df Mean F Sig.
Squares Square
“Regressi [ 10297.90 5 2059.580 43.38 000b
on 0 5
1 Residual |9209.600 |194 47.472
Total (1)9507'50 199

a. Dependent Variable: science score
b. Predictors: (Constant), female, math score,

score, reading score, writing score

social studies

Coefficients" :
Model Unstandardized Standardi |t Sig.
Coefficients zed
Coefficie
nts
B Std. Beta
Error
(Constant) [9.472 3.160 2.997 |.003
reading
SeoFe 271 .072 280 3.760 |.000
writing score|.313 .078 300 3.986 {.000
math score  |.285 076 270 3.752 1.000
social |
studies score -.026 .063 -.028 -408 |.684
female -3.576 1.061 -.180 -3.370(.001
a, Dependent Variable: science score ;
Based on the output, answer the following questions: (CO 3.4)

(a). Frame suitable hypotheses.

(b). What is the significance of R and adjusted R square in model
summary?

(c). How would you inte S
: rpret the ANOVA result ‘
middle table above? > provided In the

(d). What are the results of the hypothesis stated above?



ave least and highest impact on dependent

(e). Which factors h

variable?

6. Write short note on any.two of the following;: (CO1,2)
(a) Validity vs Rehab111ty '
(b) Contents ofa research report

(c). Semantic differential scale
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END TERM EXAMINATION May-2023
MBA106 FINANCIAL MANAGEMENT AND POLICY
Time: 3:00 Hours Max. Marks: 50
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Note : Attempt any 5 questions from 7.
All questions carry equal marks,
Scientific calculator is allowed.,
Assume suitable missing data, if any.

10,00,000 of 10%
1,00,000 units to 1

;000 (shares of Rs 100 par value) and Rs
debentures. The unit sales increased by 30 percent from

,30,000 units, the selling price is Rs 10 per unit, variable

costs amount to Rs 6 per unit and fixed €Xpenses amount to Rs 3,00,000. The

income tax rate is assumed to be 35
following:

(i) The percentage increase in earnings per share.

(ii) The degree of ﬁnancial leverage at 1,00,000 units and 1,30,000 units.

per cent. You are required to calculate the

(iii) The degree of operating leverage at 1,00,000 units and 1,30,000 units. [5]

(1B) Comment on the behaviour of operating
increase of production from 1,00,000 to 1,30,000 units in the above case.

& and financial leverage in relation to

P
L5
'y

(3]
(1C) What is EBIT—EPS analysis? What are its limitations? [2][CO 2]
Q.2

24)

Projects CF 0 CF 1 CE 2 CF3 CF 4

P (1,000) +600 +200 +200 +1,000

Q (1,000) +200 +200 +600 +1,000

R (1,300) +100 +100 +100 +1,600

S (1,300) 0 0 +300 +1,600

(a) Calculate the payback period for each project.

Noee. 1 _£ 4



e W we wdd W aqg g q/
(b) If the standard payback period is 2 years, which project will you select? =
Will your answer be different if the standard payback is 3 years?

(c) If the cost of capital is 10 per cent, compute the discounted payback for

each project? Which projects will you recommend if the standard payback is (i)

2 years; (ii) 3 years? |

(d). Compute the NPV of each project? Which projects will you recommend?
3 | 0 [8]

(2B) Differentiate between NPV and IRR. Which is a superior evaluation

criterion, IRR or the NPV? [2][CO 3]

Q.3
(3A) A proforma cost sheet of a company provides the following particulars:

Particulars Amiount per unit
Elements of cost:
Raw materials Rs 90
Direct labour 20
Overhead 70
Total cost 180
Profit 40
Selling price 220

N
0
A

The following further particulars are available:
1. Raw materials in stock, on average, one month;
2. Materials in process (completion stage, 50 per cent), on average, halfa

month;
Finished goods in stock, on average, two months.

. Credit allowed by suppliers is two months; ‘

. Credit allowed to debtors is one month;
Average time-lag in payment of wages is 2.5 weeks and one month in

“overhead expenses; one-fourth of the output is sold against cash; C

7. Cash in hand and at bank is desired to be maintained at Rs 4,65,000. b
You are required to prepare a statement showing the working capital needed to I
finance a level of activity of 1,15,000 units of production. You may assume G
that production is carried on evenly throughout the year, and wages and ex
overheads accrue similarly. For calculation purposes, 4 weeks may be taken as (ii
equivalent to a month, total days need to be taken as 360. [7] #ia

(3B) What are the advantages of cash planning? How does cash budget help in
planning the firm’s cash flows? [3][CO 3]
Page 2 of 4
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does not employ long-term debt. The follow
on the company during 2018-2023:

Year EPS DPS Book Value Market Value
2018 6.21 2 26.03 100

2019 10.91 2.5 34.44 205

2020 11.57 2.5 43.52 209.38

2021 11.47 2.7 37.98 164

2022 10.44 3 4542 138.88

2023 11.23 3.2 53.45 155

Note: Years 2018-2023 closed on 31 March. Market value is the averages of
high and low share prices.

You are required to calculate

(@) ROE, (b) dividend payout, (c) retention ratio, (d) growth rate,
(e) dividend yield, (f) earnings yield and (g) cost of equity. [7]
(4B) Is equity cost free? Why or why not? [3][CO 2]

Q.5 N
(5A) KM Ltd has an expected return of 25 per cent and standard deviation of
30 per cent. PA Ltd. has an expected return of 24 per cent and stand?n'd
deviation of 35 per cent. KM has a beta of 0.87 and PA 1.25. The c.:orrelatxon
between the returns of KM and PA is 0.75. The standard deviation of the
market return is 20 per cent. ‘ . |

(i) If you invest 30 per cent in PA and 70 per c?m.: in KM, what is your
expected rate of return and the portfolio standard deviation? |

(ii) What is the market portfolio’s expected rate of return and how much is [t?;
risk-free rate?

Page 3 of 4
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(5B) A company’s current price of share is Rs. 60 and dividend per share is Rs.
4. If its capitalization rate is 12 per cent, what is the dividend growth rate? (3]

(5C) Define systematic and unsystematic risks. Give examples of both.
[2][COT1]

Q.6 Write short notes on: (Word limit: 250-300 words for each part)

(1) ‘The profit maximization is not an operationally feasible criterion’. Do you

agree? [llustrate your views.

(i) Comment: ““The virtue of the IRR rule is that it does not require the

computation of the required rate of return.’

(iii) Comment with example: “Debt-Equity Ratio plays an important role for
companies.”

(iv) ‘Generally, individuals show a time preference for money.” Give reasons
for such a preference.

(v) Does diversification reduce risk? What are limits to diversification?
[5 questions* 2 Marks] [CO 1, 5]

Q.7

(7A) The primary purpose for which a firm exists is the payment of dividend.
Therefore, irrespective of the firm’s needs and the desires of shareholders, a
firm should follow a policy of very high dividend payout. Do you agree? Why

or why not? [5]
(7B) What is a bonus issue or stock dividend? What are its advantages and
disadvantages? [5][CO 5]

Page 4 of 4
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II/VI/VIII Semester
MBA/B. TECH

- END TERM EXAMINATION - May-2023
MBA-108 OPERATIONS AND SUPPLY CHAIN MANAGEMENT

Time: 03:00 Hours Max. Marks: 50

LNote : Assume suitable missing data, if any.
: -Use of non-programmable scientific calculator is allowed.
Q.1 Lucille Jenkins, the CEO for the Durham International

-Manufacturing Company"(DIMCO), believes that the company can

significantly increase its operating profit by implementing supply
chain management. DIMCO manufactures a variety of consumer
electronic products, from hair dryers to humidifiers to massagers, for

Y Y T N I TR O AR e e o
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the world market,
Lucille believes that DIMCO has already integrated its internal
processes and is ready to proceed with external integration.
However, she is uncertain as to which direction to take. Should the
company work on integrating the suppliers or the distributors first?
Currently, DIMCO uses approximate!y 1350 different components
and/or raw materials in manufacturing its product line. Those
‘components and raw materials are purchased from approximately
375 different suppliers around the world. In terms of distribution,
DIMCO currently sends its finished products to a central warehouse
- that supplies 10 regional distribution centers (RDC); 6 are domestic
and 4 are located outside of the United States. Each RDC supplies an
average of 12 local distributors that each supply an average of 35
retailers. Lucille is looking for some advice. [CO1,2,3] [10]
a) Briefly describe DIMCO’s supply chain
- b) What are the advantages that DIMCO can gain by implementing

supply chain management?
c) What would you recommend DIMCO - should it integrate

suppliers or distributors? Why?
Page1of3




Q.2 The XYZ Hospital
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is considering the purchase of a new ambulance.

The decision will rest partly on the anticipated mileage to be driven
next year. The miles driven during the past 5 years are as follows,

Year

Mileage

3,000

4,000

3,400

1
2
3
4

3,800

5

3,700

a) Forecast the mileage for next year (6" year) using a 2-year moving

average

b) Find the MAD based on the 2-year moving average. Compare it with
2-year moving average MAD.

¢) Compute the forecast for year 6 using exponential smoothing, an
initial forecast for year 1 of 3,000 miles, and ¢ = 0.5

[CO2,3] [10]

Q.3 (a) ABC hospital is trying to improve its image by providing a positive
experience for its patients and their relatives. Part of the “image”’
program involves providing tasty, inviting patient meals that are also
healthful. A questionnaire accompanies each meal served, askin g the
patient, among other things, whether he or she is satisfied or
unsatisfied with the meal. A 100-patient sample of the survey results
over the past 7 days yielded the following data,

Day No. of Unsatisfied Sample Size
Patients
1 24 . 100 -
2 22 1C0
3 8 100
4 15 100
5 10 100
6 26 100
7 17 100

Construct a p-chart that plots the percentage of patients unsatisfied
with- their- mieals. Set the control limits- to -include 99.73% of the
random variation in meal satisfaction. Comment on the results.

[CO1,2,3,4] [5]

Page 2 of3
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Q3. (b)ABC’s machine shop uses

2,500 brackets during the course of a
year. These brackets are purchase

d from a supplier 90 miles away. The
following information is known aboyt the brackets

7 [CO2.3
Annual demand — 2500

Holding cost per bracket per year - $150

Order cost per order - $18.75
Lead time — 2 days

Working days per year — 250

a) What would be the economic order quantity ?
b) What would be the annual inventory holding cost ?

¢) How many orders would be made each year ?
d) What is the time between the orders ?
€) What is the reorder point 2

ATTEMPT ANY TWO OF THE FOLLOWING

Q.4 What in the importance of Aggregate Production
operations management? Explain its linkage with MRP

[10 x 2 =20]
Planning in
and ERP.

[CO2,4]
Q.5 Enumerate any 5 supply chain risk and the associated risk mitigation

approaches. Elaborate how can IT help in improving SCM by giving
suitable examples.

[CO2,3,4]
Q.6 What is the classification of inventory ? Why it is required? Explain

= any one classification approach. . [CO1,2,3]
Q.7'.What do you understand by “bul

Iwhip effect”™? How it can be reduced?
Discuss with the help of a retail sector example. [CO1,2]

END--:

Pagedof3
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2" SEMESTER
MBA

END TERM EXAMINATION
MBA-110 BUSINESS ENVIRONMENT

Total No. of Pages: 02

May-2023

Max. Marks: 50

Time: 3:00 Hours
Note : All questions are compulsory.

Q1. Discuss the current state of Indian retail sector. Present

opportunities and challenges in Indian Retail sector taking into
consideration (but not limited to) following points:

-FDI policy in Indian Retail sector
-Participants in Indian Retail sector
_In what modes are the foreign players operating in India

[10] [CO4]

Q2. Japan has witnessed an innovation-led growth. It ranks 13" in the
Global Innovation Index 2021 rankings, up from 16th in the previous
year's rankings. It boasts about its domestic innovative firms and its
innovative clusters, which tops the overall innovation cluster ranking in

the world. Using Porter’s Diamond explain the global competitiveness of
[10] [CO3]

Japan.

Q3. You are the CEO of a company that has to choose between making
a $100 million investment in Russia or Poland. Both investments

promise the same long-run return, SO your choice is driven by risk
considerations. Assess the various risks of doing business in each of
Explain in

these nations. Which investment would you favour and why (
[10] [CO2]

the backdrop of political systems)?
OR

Explain "pay-for-performance system" and "lifetime employment”

complicate company activities? Explain how these two cross—cultpral
-term orientation.

differences reflect Hofstede's long-term versus short
[10] [CO2]



A\ ] S
g? How do firms decide which activities t

4. What is outsourcin
. ES-

conduct in-house and which to outsource? Explain in the light of IT
BPO industry?
[10] [CO4,5]

OR
As explained by Ronald Coase - The boundaries of the ﬁrm are
determined by how transactions and information costs differ within and

between firms.
In the light of this, explain how technological advances have affected

these boundaries. [10][CO4,5]

Q5. Answer the following:
a. Difference between tariff and non-tariff barriers

b. Role of WTO as regulator and promoter of world trade
[10] [CO3]

END
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_2nd__ SEMESTER MBA

END SEMESTER EXAMINATION . " May-2023
MBA 112 ' Management Accounting

Time: 3:00 Hours ... Max. Marks:50

.Note :Answer any three out of question no. 1,2,3 & 4.
Question'5,6 are compulsory.

Marks are indicated along with each question.
Basic Calculator is allowed.

Assume suitable missing.data, if any.

Q.1 Avdesh Instruments Company’s standard cost sheet shows the

following costs for material and labour used in completing a single unit
of one of its products:

Material 5 pieces @ 4 paise 20.20
- Labour 1/4 hour @ %2 per hour 30.50
Standard capacity of th_e enterprise is 12,504 standard productive hours per

month. 3\5
During the month of March 2023, the production of the product was
40,000 units at the following costs: Tﬁ

Material 2,10,000 pieces @ 5 paise

Labour 12,000 hours @ %2 ~
a) Calculate appropriate Material variances - (5 Marks)(CO4) .
b) Calculate appropriate Labour Variances (5 Marks) (CO4)

Q.2 Assembly of product P1 requires two units of component X, one unit
of component Y, and two units of component Z. Job produced 200

units of P1. The following information pertains to material variances for
this job, analyzed by component:

P.T.O.
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Time: 3:00 Hours - .. Max. Marks: 50

:Note :Answer any three out of questmn no. 12,3 &4.
Quiestion'5,6 are compulsory.

Marks are lndlcated along with each question.

Basic Calculator is allowed.

‘Assume suitable missing.data, if any.

Q.1 Avdesh Instruments Company’s standard cost sheet shows the

following costs for material and 1abour used in completing a single unit

of one of its products:

Material 5 pieces @ 4 paise 30.20
Labour 1/4 hour @ %2 per hour 20.50

Standard capacity of the enterprise is 12,500 standard productive hours per
month. ”
During the month of March 2023, the pmductlon of the product was
40,000 units at the following costs: \\J

Material 2,10,000 pieces @ 5 paise

Labour 12,000 hours @ %2
a) Calculate appropriate Material variances = - (5 Marks)(CO4)
b) Calculate appropriate Labour Variances: - (5 Marks) (CO4)

Q.2 Assembly of product P1 requires two units of cdmponent X, one unit
‘of component Y, and two units of component Z. Job produced 200
units of P1. The following information pertains to material variances for

this job, analyzed by component:

P.T.O.



COMPONENT!
: X Y Z .
Price variance 1000U 750F 4500

.Quantity variance - 2500U 1000U 800 F

The actual material prices were $2 more, $3 less, and $1.5 0 niore per unit
for components X, Y, and Z, respectively, than their standard material

“ prices per. unit.

a. Determine the number of materials units consumed of each type of
component. ' - (5 Marks) (CO4)

" b. Determine the standard materials price per unit of each type of

A5

Revenue $520,000°  $325,000° $180,000

component. B (5 Marks) (CO4)

Q.3 Klear Camera Company is considering introducing a new video
camera. Its selling price is projected to be $1,200 per unit. Variable
manufacturing costs are estimated to be $360 per unit, Variable selling
costs are 20% of sales dollars. The company expects the annual fixed

-manufacturing costs for th_e new camera to be $4,200,000.

a) Compute Klear’s contribution margin per unit (3 Marks) (CO3)
b) Determine the number of units Klear must sell to break even.
(3 Marks) (CO3)

c) Klear is considering a design modification that would reduce the
variable cost of the camera by $200 per unit. Explain whether this change
will cause Klear’s breakeven point to increase or decrease when compared
to the initial plans. - (4 Marks) (CO3)

Q.4 a) Roger’s Rclaxatioﬂ Center anaiyzéé' the "proﬁ‘tabil_,ity_ .of three:
-operating units: its restaurant, bar, and gym. ‘Revenues, variable costs,
and attributable fixed costs (which can be avoided if the unit is eliminated)

_ for each unit are as follows:

RESTAURANT .BAR GYM

Variable costs 240,000 60,000 50,000
Attributable fixed costs 70,000 25,000 55,000

ML & w0



Roger, the owner, is considerin
expanded restaurant area

a) Ignoring rémodeling costs, b

margin have to increase for the
is now?

g converting the gym area  into an

y how much will the restaurang segment
center’s income to be at least ag high as it
(5 Marks) (C0o2)
der before making
staurant area?

~ (5 Marks) (CO2)
rmine what products
on per unit.” Do you
(5 Marks) (CO1)
ossible to obtain

b) What other considerations will Rogér want to consi
the decision to eliminate the gym unit to expand the re

Q.5 a)*When production capacity is constrained, dete

to make by ranking them in order of their contributi

- agree with this statement? Explain.

b) “When production capacity is limited and it is p
additional customer orders, a firm must consider its opportunity costs
to evaluate the profitability of these new orders.” Do.you agree with
this statement? If so, what ars the opportunity costs in this context?

(5 Marks) (CO1)

Q.6 State True or False with brief explanation. (10 Marks) (CO1, CO2)

a) Management Accounting is directed towards external users of

information.

b) Management Accounting facilitates optimum use of scarce resources.

c) The sales budget is the basis for all the other: operating budgets.

d) Zero-based budgeting questions edch activity in the current budget and

determines whether an activity should be supported as is re-engineered or
eliminated. ‘

€) If the actual labour rate was more than the standard rate, the labourrate =~ "
variance is unfavourable. | |

f) A cost variance is said to be favourable if the standard cost is more than

the actual cost. T | -

g) An assumption of break-even analysis is that selling price remains

constant, D R

h) Profit is the difference between sales and contribution. =

i) In make or buy decision, it is profitable to buy from outside firm when
supplier’s price is below firm’s own total costs.

J) All fixed costs are sunk costs but all sunk costs are not fixed costs
END
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MBA 114 INFORMATION TECHNOLOGY MANAGEMENT
Time: 3:00 Hours Max. Marks: 50
Note: Attempt any five questions.

All questions carry equal marks.
Assume suitable missing data, if any.

Q.1a) List and describe five competitive strategies enabled by
information systems that firms can pursue. [5])(CO1]

b) If you were setting up the website for an IPL team, what management,
organisation and technology issues might you encounter? [5][CO2]

Q.2 a) Describe IT infrastructure from the service perspective. [S][CO2]

b) Differentiate between cloud computing, green computing, and
quantum computing. [5][CO2]

Q.3 a) What are the major capabilitics of Database Management System
(DBMS), and why is a relational DBMS so powerful? [5])[CO3]

b) “Capturing the knowledge in an organization is not purely about
technology.” Comment. [5][CO3]

Q.4 a) How can analytics aid in objective decision making?  [5][COS5]

b) What is a data warechouse? How can data warehousing technology help
to enable analytics? [5][CO3]



-

Iy o : ,
Q.52) How does buildng new syg;ézm prodoce ofganizetional change?
i [51(C08]

Discuss with the help of examples.

b) How do the internet znd internes technology work, and how do they
SUpport communication and e-business? [3][CO35)

Q.6 2) How do Porter’s Competitive forces modsl, and vahe chain model
help companies develop competitive strategies using information
systems? - [3][CO1]

b) Web 2.0 dramaticzlly increase the ability of people to interact with
businesses and each other, to share and find Information, and form
relationships. Examine the statement with suitable examples.

A
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MBAMK 212 MARKETING ANALYTICS -
Time: 3:00 Hours Max. Marks: 50 -
Note: Attempt any five questions. All questions carry equal marks. _
Assume suitable missing data, if any. &

Q.1 a) Explain how predictive and prescriptive analytics differ. Provide
[5][CO1]

suitable examples.
b) Describe the steps involved in data pre-processing. [5][COl]

Q.2 a) List the steps involved in building data mining models to identify
useful patterns. [5][CO2]

b) How does the customer journey for consumer durable products (e.g.,

electronics and automobiles) differ from consumer packed goods (e.g.,

food and beverages)? Explain along with touchpoints and KPIs.
[5][CO3]

Q.3 a) An EdTech App in India is exarning its high churn fate among app
users. What can be the reasons for chum? How will you determine the
important reasons for churn using data from the EdTech app? [5][CO2]

b) Describe any four metrics for tracking customer eXperience. [5][CO2]

Q4 a) Differentiate between conjoi i -
joint analys B,
modeling? ¥5I8. land dlscret[z][fz:h((;;c]e

List and explain the steps involved in such analysis. [5][CO4]



£
Q.5a) Imagine that you are the head of € modern retail outlet and you hav

to devise a pricing strategy to help increase revenues and profits. Develop aF::..—-
comprehensive pricing model that will attract consumers and increase profit™-
margins. [5][CO3] ot
b) Do you think customer lifetime value is useful for banks to calculate™
when they decide to acquire a customer? Provide suitable examples ][Co3léf;
(5

Q.6 a) What are the concens about using Al in marketing? Explain with'
suitable examples from products marketed with

Al techniques (e.g., creditg
approvals, or movies recommended)

[5][CO1] *
b) Create a customer journey map for online grocery store. [5][CO3] e_—

@ A h N D

A5 ‘9"’

AR
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MBAHR 212 CROSS CULTURAL AND INTERNATIONAL HUMAN

RESOURCE MANAGEMENT
Max. Marks: 50

Note : ATTEMPT ANY FIVE QUESTIONS

All questions carry equal marks.
Assume suitable missing data, if any.

Q1.
Q2.

Q3.

Q4.

Q5.

Q6. What intercountry differences affect HRM? Give exam

- help preclude the trust climate.

Explain how cross cultural and global human resources management can be

instrumental in helping a company create a competitive advantage.
[10 MARKS] [CO 2]

Discuss the behaviours that help build trust climate and the behaviours that
[10 MARKS] [CO 1]

‘In the absence of incentives to modify their role behavior when abroad, it is
not surprising that the expatriates concerned performed normally.” Elucidate
the performance management for expatriates in light of this statement.

[10 MARKS] [CO 3]
You are the HR manager of a firm that is about to send its first employees
overseas to staff a new subsidiary. Your boss, the president, asks you why

such assignments often fail, and what you plan to do to avoid such failures.

How do you respond? [10 MARKS] [CO 4]

Examine the complexities that arise when firms move from compensation at
in an international context.

[10 MARKS] [CO3]
ples of how each may

specifically affect HRM with reference to the inter country cultures studied
[10 MARKS][CO 4]

the domestic level to compensation

in the course.
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MBAAN214 Data Mining for Business Analytics
Max. Marks: 50
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Time: 3:00 Hours
Note: Question 1 is compulsory. Attempt any four from remaining six

questions. Assume suitable missing data, if any. Use of calculator is

allowed.

Q1. In parts i to iv, write the correct option. (CO1, CO2, CO3)

1. Entropy (6,5) is --------- Entropy (5,6) :
(a)Same as (b) less than (c) more than (d) none of these 1 Mark

ii. A technique which can help in reducing the dimensions of a dataset is:

(@) ANOVA  (b) Regression Analysis (c) Principal Component
Analysis (d) MANOVA 1 Mark

111. If the Karl Pearson correlation coefficient between two variables is

positive then the covariance between the variables is:
(@) positive  (b) negative (c) can be positive or negative “
1 Mark ()

(d) less than correlation

1v. If a sample is completely homogenous, it entropy is:

(@0 (b) 1 (c) 2 (d)between 0 and 1 1 Mark

v. Define ‘Different (xi, vi)’ function to measure distance in case of
categorical variables. Using this function, Min-Max normalization (MMN),
z-score normalization and the data given in the following table, find out
which person should be considered as more similar to a 60- -year-old male
using MMN and z-score normalizations respectively. Justify which type of
normalization should be preferred while dealing with mix of categorical and
continuous variables. (Assume that for Age variable, the range 1s 30, the
minimum is 10, the mean is 45, and the standard deviation is 15). 4 Marks

1Y YN



SRR A

Paticnt Aéc Aéemm f?\gez,m. ﬁz?cder
60 7 N [Male
g 20 ? T Malcl
' Female
C 60 1 ] i Female

[ ' i ion.
vi. llustrate any 2 diagnostics checks for Multiple Linear Regress

2 Marks
- CO3
Q2. Study the following neural network: ( )
Input Layer Hidden Layer Output Layer

The associated initial connected weights are:

| Wij Wi W2j W2i W3j W3i Wik Wik
[ 0.2 0.1 0.3 0.1 -0.1 0.2 0.1 0.5

(a) Explain the concept of neural network algorithm in the context of data

mining 3 Marks
(b) Apply the input instance [0.5, 0.2, 1.0] to the above feed forward neural
network:

e Compute the input to nodes i and j.

3 Marks
ii.

Use the sigmoid function to compute the initial outputs of nodes 1

and j. 2 Marks
Use the output values computed in part b to determine the input
and output values for node k. 2 Marks

Q3. .Consider an undirected network for individuals A, B, C, D, and E on a social
media platform. A is connected to B and C. B is connected to A and C. C is
connected to A, B, and D. D is connected to C and E.E is connected to D. (CO4)

iii.

(2) Produce a network graph for this network. Is this network connected?
2 Marks
P.T.O




(b) What node(s) would need to be removed from the graph for the re

nodes to constitute a clique?

() What is the degree for node A?
(d) Which node(s) have the lowest degree?
(¢) Tabulate the degree distribution for this network.
(f) Calculate the density of the network.

maining,
2 Marks

I Mark
1 Mark
2 Marks
2 Marks

Q4. (a) An online store sells products under 8 categorics, labelled A, B, C,

....H. The past purchasc details of 5 customers (C1, C2, C3, C4, C5) arc given
in the following Table:

Product/ A|B |C|D |E |F |G |H
\(‘.ustomer \ \ \

\c1 \1 \o o |1 |10 1 |12
\cz \1 \o 1 |1 |1 |10 |o
\cs \o \1 1 o [o o |1 |2
_ \cq \1 \o o {1 |1to0]o {o
\cs t1 j1 1 |o |o ‘\o o Yjla

where a;; =1, if customer i purchased product |

=0, otherwise

(COT)

Use Jaccard coefficient to find customer who is closest to customer C;.5 Marks

(b) Consider following data in respect of 20 students:

(CO2)

“Student | Marksin | Marksin. | Student | Marks in | Marksin
\’ID . -"\’Deﬁision_ | Aptitude - {ID - | Decision . | Aptitude
o |Sciences . {Test. = .}~ " 1Sciences | Test
(1 148 28 11 10.7 12.2

|2 [ 11.05 12 12 143 27

13 1122 21 13 12.4 19.5

{4 |12 20 14 14.85 29.2

s 1145 29.5 15 10.9 13.6

l6 | 112 13 16 13.9 29.7

|7 {115 12 17 10.4 12.2

|8 | 12.8 19 18 10.8 13.6

|9 | 14.75 28.8 19 14 28.8

{10 [10.5 [ 14 20 12.47 22.8

Itis given that using a suitable method students (represented by Student IDs) are
grouped into 3 clusters: Cluster 1 = {2, 6, 7, 10, 11, 15, 17, 18} ; Cluster 2 = { 3,
4,8,13,20} ; Cluster3={1, 5,9, 12, 14, 16, 19}. Consider a new student with
14 marks each in Decision Sciences and Aptitude Test. Using a suitable distance
measure, determine the cluster to which this new student belongs.

S Marks

P.T.O



Q5. The following is a training sS¢

Qo.

Q7.

(a)
&)
(®

t D taken from a customer database. Using
ute selection measure, bring out first level of
the decision tree for the concept ‘buy iPhone’, i.e. for the last column which
indicates whether a customer is likely to purchase an iPhone (You have to
do only one iteration, i.e. identify the attribute which form root of the tree,
show the resultant braches and stop). (CO3) 10 Marks

information gain as the attrib

1D | Age Income | student | Credit_ratin | Classt buy
: e | iPhone
1 Youth High No Fair No
2 Youth High No Excellent No
3 Middle aged | High No Fair Yes
4 Senior medium | No Fair Yes
S Senior Low Yes Fair Yes
6 Senior Low Yes Excellent No
7 Middle aged | Low Yes Excellent Yes
8 Youth medium | No Fair No
9 Youth Low Yes Fair Tes
10 Youth medium | Yes Fair Yes
11 Youth medium | Yes Excellent Yes
12 Middle aged | medium | No Excellent Yes
13 Middle aged | High Yes Fair Yes
14 Senior medium | no | Excellent No
(a) What are the Characteristics of stationary fime series? 2 Marks

(b) Suggest checks for examining stationarity of a time series. 3 Marks

(c) Suggest Methods for making a time series stationary. 3 Marks

(d) The following residuals are from a linear trend model used to forecast
sales: 2.0, -0.5, 1.5, 1.0, 0.0, -3.0, 1.5, 4.5, 2.0, 0.0, -1.0. Compute
Mean Absolute Deviation. 2 Marks

(CO3)
Write short notes on any two of the following: (CO1, CO2) 10 Marks
Steps involved in performing Linear Discriminant Analysis
Measures for evaluating predictive performance of a Data mining model

KC){ Challenges pertaining to Data Pre-Processing in a Data Mining
Project
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MBAMK-214 Digital Marketing Tools
' Max. Marks: 50
Time: 3:00 Hours ~

Note: All questions are compulsory.
Assume suitable missing data
Use Examples wherever necessary.

Q.1 You are a digital marketing 'specia_list for a new startup tpat sells
healthy homemade meal delivery services. Your goal is to increase
website traffic and generate more leads for the company.
Task: Develop a comprehensive digital marketing plan that
includes the following components:
Identify your target audience and their needs.
Develop a content marketing strategy.
How will you use social media to promote your content and
engage with potential customers? '

How will you develop an email marketing campaign to
nurture leads and promote special offers?

How will you track and analyse website traffic and lead
generation metrics? [10][CO-1]

Q.2 Which brand is your favourite when it comes to digital marketing

techniques and customer engagement methods. Mention what you like
about them and give a few suggestions. [10][CO-4]

Q.3 According to you which social medi
. edia platforms w
different categories of businesses P S WOIL toest ifer

. mention th .
sutable platform)? Mention an ( € category alongside the

: y 4 Social Media channels, and
which types of campaj 'a channels, and also tell
respectively mpaigns are successful in these channels

[10][CO-1]



Q.4

Q.5

A29

Mention the use of the following tools in digital marketing
1. Hootsuite ’

. 2. Google Analytics

3. SimilarWeb

4. WordPress

5. Google Trends [2x5](CO-2]
State whether the following statements are True or False. If false,
give the reason - [2x5][CO-1 2844

. Fmail marketing is an outdated strategy and has been replaced

by social media marketing.

. Google Ads only appear on search engine results pages and not

on other websites.

. Retargeting ads are only shown to people who have previously

visited a website.

. Influencer marketing is only effective for businesses in the

fashion and beauty industries.

. A high bounce rate on a website indicates that the website is

performing well.
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MBAHR 214 Performance Management

.M.50
Time:3Hours M.M.5

mote: Answer any 5 questions

Ql. Discuss the various steps involved in transforming an organizaiiqn
from “compelling place to work” to “compelling place to invest” in
context of Performance Management. 10 (CO 1,2)

Q2. Discuss the role of competency mapping in Training and
development; recruitment; career development and performance
management. Explain with relevant examples. 10 (CO 2,3)

3. “A positive strong and mature organizational culture can enhance

performance of employees and organizations”. How far is it true?
Explain. | 10 (CO1,2)

Q4. Discuss the various factors afiecting the successful implementation
of Performance Management in the organizations. 10 (CO3)

Q5. Discuss the essence of KRAs, KPIs, performance targets and
business metrics for any company and profile of your choice. -
10 (C0O2,4)

Q6: Discuss the role of frientorship in institutionalizing performance in
the organizations. Substantiate the discussion with supporting drivers.

10 (CO3,4)

Q7: XYZ Corp. is a mid-sized manufacturing company that has been
experiencing declining productivity and morale among its employees.
The company's management team has identified that the performance
management process needs to be improved to address these issues. As
the HR manager, you have been tasked with developing a performance

management system that can improve productivity and morale. What
steps would you take to achieve this goal? . 10 (CO1, 4)
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" /Assume suitable missing data, if any.
Q‘.»l Compare B2C marketing with B2B marketing. Take an example

both the industries and discuss their relationship building
oatege [10 M][CO 2]

strategies. -

a -

Q.2 (a) Explain the Howard Sheth model of buying behaviour in B2B

7 Marketing, 0 - -0t o o [SMICO3]

" (b) “Emotional appeals are more effective in B2B marketing than
functional benefits”. Critically examine the above statement.

[5 M][CO 1]

Q.3 What are channel management decisions? Explain the conflicts that
can emerge in managing the distribution channels in B2B context.

[10 M][CO 4]

Q.4 “Segmentation is the process of dividing heterogeneous market into
homogeneous sub-groups displaying similar needs and wants”.
Explain the statement by taking an example of Airbus, world’s
prominent aircraft manufacturer. : [10 M][CO 3]

Q.5 India’s largest automaker Maruti Suzuki Ltd. procures engine oil
from various marketers like Castrol, Mobil, Helix, Gulf etc. As a

category manager, develop a suitable checklist/framework to
evaluate the above suppliers. [10 M][CO 4]

Q.6 (a)*“Arriving at a just price is one of the biggest challenges to all
B2B marketers”. Comment by taking any suitable example.

. - [5 M][CO 4]
(_b) Identlfy key challenges faced by consultancy services providers
like McKms_ey, BCG, and Bain & Company in charging the price
of their services from enterprises ranging from small to large.

[5 M][CO 4]
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MBAHR 218 INTERPERSONAL PROCESSES AND
COUNSELLING SKILLS FOR MANAGERS

Time: 3 Hours Max. Marks: 50

Note: Each question is of 10 marks.
All questions are compulsory.

In Q3 there is a choice attempt one either part A or partB .

Q1 Mark is a 27-year-old man who has been struggling with anxiety and
depression for several years. He seeks counselling to work through these
issues and improve his overall well-being. His Counsellor uses the 5-D
model of counselling to guide their sessions. In the first session, the
Counsellor asks Mark about his background, family history, and current
‘concerns. Through this process, they discover that Mark has a history of
trauma and abuse, which has contributed to his anxiety and depression.
The Counsellor asks Mark to think about what he would like to achieve
through counselling. Mark shares that he wants to feel more confident and
in control of his life. Together, the Counsellor and Mark develop a plan
for how to achieve these goals. They discuss different therapy approaches,
including cognitive-behavioral therapy and mindfulness techniques. They"
also talk about self-care strategies that Mark can incorporate into
his daily routine. The Counsellor helps Mark to visualize what his life will
look like when he has achieved his goals. Mark imagines feeling more
confident and self-assured, and having healthier relationships with family
and friends. Over the course of several sessions, the Counsellor and Mark
work together to implement the plan they have developed. They practice

mmdful‘ness exercises and cognitive-behavioural techniques, and discuss
how to incorporate self-care into Mark's daily routine.

S%E
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Questions:
1. How did the discovery phase help the Counsellor and Mark understand

the underlying causcs of Mark's anxicty and depression and explain
. ] ' r r 4 “ ﬂ

strategics that arc included in this plan? [6 Marks] [CO2,4]

2 How did the delivery phasc involve putting the plan into action, and

what outcomes did Mark achicve as a result of counselling using the 5-
D model? [4 Marks] [CO 3,5]

oman who sceks counselling to deal with

feelings of anxiety and low self-esteem. During her first session, her
counsellor introduces her to transactional analysis, a therapy approach
that focuses on understanding and improving communication patterns and
relationships. Using transactional analysis, the counsellor helps Samantha
identify her three ego states: Parent, Aduli, and Child. They work together
Atb explore how these ego states affect her relationships with others and
her own sense of self-worth. Through their discussions, Samantha realizes
that she often behaves in a "parental" ego state, where she is critical of
herself and others, and sets high expectations that are difficult to meet.

This has led to feelings of anxiety and low self-esteem, as well as strained

relationships with family and friends. The counsellor encourages

Samantha to explore her "child" ego state, where she can be more

vulnerable and authentic. Through this exploration, Samantha learns to

express her emotions in a healthy way and to set boundaries with others.

Q2 Samantha is a 35-year-old w

Over the course of several sessions, Samantha continues to work on
improving her communication patterns and relationships, using
transactional analysis as a framework. She begins to feel more confident
and empowered, and her relationships with others become more positive
and fulfilling.



Questions:
1. How did the counsellor use transactional analysis to help Samantha

identify and explore her ego states? How did exploring her "child” ego

state help Samantha to express her emotions and set boundaries?
[6 Marks] [CO 1,2]
actional analysis in Samantha's

2. What were the outcomes of using trans
[4 Marks] [CO3,5]

therapy, and how did it benefit her overall well-being?

Q3 A “Conflict can play a valuable role in counselling by providing an
opportunity for individuals to explore their underlying issues and work
towards resolution.” Do you agree oI disagree with this statement?

Provide examples of how conflict can arise and manage in a counselling

session. [10 Marks] [CO 1,5]

OR

rking with a client who is

Q3 B Imagine you are a counsellor wo
1d you use to help

struggling with addiction. What action strategies cou

them overcome their addiction and develop healthier habits?
[10 Marks] [CO 1,3,5]

Q4 You are a Counsellor working with a client who has experienced a
trauma. Which approach(es) to counselling would you use, and

recent
why? How would you apply these approaches in your sessions with the
client? [10 Marks] [ CO 2,3,5]

Q5 XYZ Corporation is a manufacturing company that specializes in
producing high-quality industrial equipment. The company has been in
operation for over 50 years and has a strong reputatibn for excellence in
its field. As the head of production, you are responsible for overseeing the
production process and ensuring that the company meets its production



W  © =

quality standards. You work ¢
ent team to develop strategies and plans

wth and profitability. One of your key
the production process is efficient and

effective, and that any issues or problems are identified and addressed
quickly. To achieve this, you have implemented a system of regular
quality checks and audits, and have established clear procedures for
identifying and resolving production issues. In addition to these
operational responsibilities, you also play a key role in developing and
implementing the company's strategic plans. You work closely with the
CEO and other members of the management team to identify new
markets, develop new products and services, and explore new
opportunities for growth. To stay ahead of the competition, you have also
invested in new technologies and equipment that help to streamline the

production process and improve efficiency. You work closely with the

R&D team to identify new technologies and processes that can be

integrated into the production process to impreve qualify and reduce costs.
Through these efforts, you have been able t¢ position XYZ Corporation
as a leader in its industry, with a strong reputation for quality and

innovation.

targets while maintaining high
other members of the managem
that support the company's gro
responsibilities is to ensure that

Questions:

1. What strategies did the head of production implement to ensure
efﬁc1en‘f and effective production processes? How does the head of
production contribute to the company's strategic plans?

| 6 Marks] [CO 1,2
) wh . [ »2,3]
prOduct?t Investments did the head of production make to improve the
1on process and maintain the company's competitive edge?

[4Marks] [CO 3,4,5]
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Note: All questions carry equal marks:
Assume suitable missing data, if any.

Q.1. what are the issues involved in cross-border mergers and
acquisitions?

Q.2. How integration of target firms is executed? What is the
responsibility of integration committee?

Q.3. Write notes on:

a) Mezzanine financing
b) Stock vs. cash offers
c) LBO

Q.4. the following is the pre-merger and post-merger data relating to firm
A (acquiring firm) and firm B(target firm):

Pre-merger A | Pre-merger B | Post-merger A
Eamings Rs. 2,00,000 | Rs. 1,00.,000 | Rs. 3.50.000
Number of Shares | 50,000 10,000 |?

EPS Rs. 4 Rs. 10 E

Market Price Rs. 40 Rs. 100 |2 I
PE Ratio 10 10 110 ?
Value of the firm | Rs. 20,00,000 Rs. 10,00,000 | Rs. 35,00.000 |

The firm A after merger is not expected to have any growth in earnings
except that there is a synergy of Rs. 50,000 in earnings generated by I}Ié‘
merger. The firm A is considering to issue ) E0,00D-sh;res. (i) 37:500
shares, or (iii) 30,000 shares to acquire the firm B. Criticallﬂ' e\"alue;te the
proposal from the point of view of the worth of the shareho-iders How the
expected growth in earnings of the two firms will affect the deci;ion?



AXE

Q.5.Smart Ltd. wants 0 acquire Dull Ltd. The balance sheet of Dull Ltd.

is as follows:

Liabilities Amount(Rs.) | Assets Amount(Rs.) |
Equity Share 6,00,000 Plant and Equipments | 1 1,00,000
Capital (60,000

shares)

Retained Earnings 2,00,000 Cash 20,000

12% Debentures 2.00,000 Debtors 30,000
Creditors and other |3,20,000 Inventories 1,70,000
liabilities

rTOTAL 13.20.000 TOTAL 13.20,000

Additional information:

I.

1.

I1.

Shareholders of Dull Ltd. will get one share in Smart Ltd. for every
two shares. External liabilities are expected to at Rs. 3,00,000.
Shares of Smart Ltd. would be issued at its current price of Rs. 15
per share. Debenture-holders will get 13% convertible debentures in
the purchasing company for the same amount. Debtors and
inventories are expected to realise Rs. 1,80,000.

Smart Ltd. has decided to operate the business of Dull Ltd. as a
separate division. The division is likely to give cashflows (after tax)
(0 the extent of Rs. 3,00,000 per year for six years. Smart Ltd. has

planned that, after 6 years, this division would be demerged and
disposed of for Rs. 1,00,000.

Company’s cost of capital is 14%.

Make a report to the managing director advising him about the financial

feasibility of the acquisition.
-END-

l

|

|
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MBAAN218 BIG DATA ANALYTICS

Time: 3 Hours Max. Marks : 50

Note : Attempt any FIVE questions.
Assume suitable missing data, if any.

Q.1 Differentiate between [CO1, 2, 3, 4] [4*2.5]
1. RDBMS and Cassendra ) ’
2. Wide and Narrow Transformations
3. RDD and Dataframe
4. Hive and Pig

Q.2 (a) What is Big Data, and where does it come from? Why businesses are

using Big Data for competitive advantage. [CO1][3]

(b) How is Hadoop and Big Data related? : [CO3][3]

Q.3 (a) Explain the three types of YARN Scheduler algorithm. [CO3][5]
(b) What are the various types of No-Sql Databases. [CO2][5]

Q.4 (a)Explain the concept of Mem-Table, SS-Table and Bloom filter. [CO2] [5]

(b)Explain the significance of combiner in Map-Reduce job executes with an
example. [CO2] [5]

P.T.O.




930 ;

Q.5 (a) What are filters in Pyspark? Explain with an example. [CO4][5] &
(b)lllustrate with the help of CQL commands, how a column family can be §

created and modified in the database. [CO4] [5]

Q.6 (a) What is SPARK. Explain its installation process. [CO4][5]
(b) What is Rack Awareness in Hadoop HDFS? [CO3][5]

&

-

Q.7 Formulate how big data analytics help business people to increase the™
revenue. Discuss with anyone real-time application. Elaborate on the
technologies used for the processing of the big data in the application. 6

[CO2, 3][10]

&

&
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Tifne:
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Note : Assume suitable missing data, if any.

Use of non-programmable scientific calculator is allowed.

Q.1 Inatwo-stage system, both supplier and retailer follows Q-model for

- Q.2

their respective inventory management.

The retailer faces a constant and uniform weekly demand of
280 units over 360 days of operation. The ordering cost for retailer
with supplier is Rs 6000 and holding cost is 20%. Determine the
ordering policy of retailer if there's no lead time.

Further, the supplier starts with an inventory which is 3 times
the retailer's optimal order size. The supplier replenishes the retailer
till his (supplier's) stocks depletes to nil. Subsequently, supplier
places order for next lot, again equal to 3 times the retailers optimal
order size and receives it in time to replenish every 4% order of
retailer. The ordering cost for supplier is Rs 2000 and his holding
cost is 10%. : '

Determine the total annual cost of operation of the system if the
product cost is Rs 150. Assume there's no lead time and all
replenishments are instantaneous. [10][CO#2,4]

An electronics company has two contract manufacturers in Asia:

Foxconn assembles its tablets and smart phones and Flextronics
assembles its laptops. Monthly demand for tablets and smartphones
is 10,000 units, whereas that for laptops is 4,000. Tablets cost the
company $100, laptops cost $400, and the company has an annual
holding cost of 25%. Currently the company has to place separate
orders with Foxconn and Flextronics and receives separate

Page 1of 2




shipments. The fixed cost of each shipment is $10,000. What is the '_»\
- optimal order size and order frequency with each of Foxconn and ¥

Flextronics? , | | -
The company is thinking of combining all assembly with the *

same contract manufacturer. This will allow for a single shipment of
all products from Asia. If the fixed cost of each shipment remains
$10,000, what is the optimal order frequency and order size from the .
combined orders? How much reduction in cycle inventory can the <
company expect as a result of combining orders and shipments?
| [10][CO#1,24] ~

| €
ATTEMPT ANY THREE OF THE FOLLOWING [10 x 3 =30]

¢

Q.3 Why measurement of logistics performance is important? List down
some of the financial and non-financial measures of the logistics 6

b

performance management. [CO#1.,4] )
&

Q.4. What kind of costing approach is better suited for determining the
logistics cost? Why? - [CO#3,4] €

Q.5 Elaborate on the strategic importance of benchmarking tool 1n€
logistics operations. [CQ#2 4]

o

Q.6 List some of the Bretton Woods Organization and their role in
facilitating global trade and logistics. [CO#1,3] 6

O —— (WA -

END

A4

Page2ofp
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Time: 03:00 Hours Max. Marks: 50

Note : Attempt five questions. Q. 5 and Q. 6 are mandatory.
All questions carry equal marks_.
Assume suitable missing data, if any.

Q.1 What is the difference between an option seller and an option
buyer, and how do they work? [10 Marks][CO#2]

Q.2 What is a swap agreement, and how is it used to manage interest
rate risk? : [10 Marks][CO#3]

Q.3 Discuss Black—Scholes modei [10 Marks][CO#3]

Q.4 Suppose Bank nifty is trading at 43500. Today is Friday and your
view is a sideways market for the.next expiry (next Thursday).

What could be your trading strategy if you want to sell options but
do not want to take unlimited risks? [10 Marks][CO#4]

Jet Airways, which commenced operations on May 5, 1993, has
established its position as a market leader in India. The airline has been
repeatedly adjudged India’s best domestic airline by Abacus-TAFI and
has won several national and international awards. . |
Jet Airways operates a fleet of 85 aircraft , which includes 10 Boeing
777-300 ER aircraft , 10 Airbus A330-200 aircraft , 54 classic and next-
generation Boeing 737-400/700/800/900 aircraft , and 11 modern ATR
72-500 turboprop aircraft . With an average fleet age of 4.45 years, the
airline has one of the youngest aircraft fleets in the world.

Jet Airways operates to 63 destinations, both within and outside India.
International routes include New York, San Francisco, Toronto, Brussels,

London (Heathrow), Hong Kong, Singapore, Shanghai, Kuala Lumpur,

Colombo, Bangkok, Kathmandu, Dhaka, Kuwait, Bahrain, Muscat, Doha,
‘Abu Dhabi, and Dubai. | '

Its major cost is the cost of aviation fuel. In addition to fuel costs, the -
other costs include landing costs at various airports and baggage handling




XIY

costs. The remuneration of pilots and aitline personnel will have to be

competitive since there is a huge demand for these personnel because of

the presence of a number of new airlines that operate throughout the
world,

The revenue for airlines comes mainly from passenger fares and cargo
fares. The passengers of Jet Airways come from various countries and

pay their fares in the currency of their own country. Jet Airways finances
the purchase of its airplanes by borrowing money cither in India or in

other countries through bond issue. The interest payments will have to be
paid in the currency in which the bond is issued. Future plans for Jet

Airways include purchase of additional planes, which will also be
financed through borrowing.

Q S. What are the various risks that Jet Airways is facing?
[10 Marks][CO#1]
Q.6 How can these risks be reduced using derivative securities?

[10 Marks][CO#2]
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Note: Answer Any Five Questions. All questions carry equal marks. Assume suitable
missing data, if any. :

Q1. Why Regiocé_ritn‘c approach is important for India in today's competitive
business environment? Explain with the support of suitable examples.
I LT Lot cET B el (C02’L3.‘)
Q2. Explain the role and importance of Strategic Alliances in the international
growth of a company with the support of suitable illustrations? ~ (CO1, L3)

Q3. Reliance Consumer Products, the Fast. Moving Consumer Goods arm of
Reliance Retail Ventures Limited, announced expansion of its packaged goods
portfolio including soaps, hygiene, laundry and home care products, setting up
direct competition with established players such as Hindustan Unilever, Reckitt
‘Benckiser and Procter & Gamble. The new launches include Glimmer beauty
-soaps, Get Real and Puric natural and Hygiene soaps, Dozo dishwash bars and
liquids, HomeGuard toilet and ficor cleaners, and Enzo laundry detergent
powder, liquid and bars.

"Our ambition is to help every Indian and Asian country household get access to
products at reasonable price points and the success of Reliance Consum
Products on a long run," a Reliance Consumer spokesperson said. |
What strategy you will suggest to Reliance Consumer Products in the assumed
competitive business scenario? Explain with the support of suitable examples.

(CO3, L2, L3)

€r

‘Q4. Write a short note on the following: (5 Marks * 2= 10) (CO1, L2)
- a) International Distribution : _ ’

* b) International Market Segmentation

Q5. “India is probably the most promising one'becau'se of its size and growth
| potential. With the Indian market soon expected to sell 5 million vehicles
(anngally), there are many opportunities for us,” Thierry Koskas, the newly
appo.mted Global Chief of Citrogen (French Car Maker). Thier’ry Koskas

on his first visit outside of Europe after assuming charge as Citrogen CEO,

said the automaker wants to be present in India with deeply localised,

Page 1 0f 2 ' | '

N
;5
§




T S o s

2 36 @

. ' ferry
What feasible suggestions you will provide as a ‘Consultant’ to Mri,;:]cs ha
Koskas, Global Chief of Citrogen for the growth of Citrogen ve

highly competitive market in India? (CO2, L2, L3) r

Q6. Recently, Apple Chief Executive Tim Coolk opcneq u.s. g.lan.t’s' two rii’?ccz:f’l'fﬁ
Apple (owned) retail stores in Mumbai and New Delhi in India in dl 5125 car?
milestone for the (Cupertino-based tech giant) iPhone maker roughly chs’____
after entering the South Asian marlket. Apple’s iPhones currcntly assumme ar:)m
than 5% of the Indian smartphone market, but the share has grown in recent ye

as more Indians buy premium handsets. The opening of Apple’s 20,000-square-

foot store in the Reliance-owned high-end shopping mall in the financial capit®"

Mumbai attracted hundreds of people who queued to see Tim Cook open the
glass doors.

n smartphone market, explain with thg:-—
support of suitable illustrations? (CO3,L1,L3) .

e
g Gupta and Mr. Ankur Gupta set out to becom®
Ul gourmet popcorn brand ‘4700BC Popcom’.

4700BC Popcorn into Retail, E-

. » Tailways, and i
Pouches, Microwave Popcomn, Makka, Protein Pops, Gifting options o
brand reached new heights, they I 1t i

first country they exported to and subsequently to
totaling over 9 countries. :
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Time: 03:00 ll-lo‘u.rs | - : ] Max. Marks:50

Note :Answer any TWO questions out.of question no. 4,5 & 6
Questions 1,2 and 3 are compulsory

Marks are indicated along with the questions

Assume suitable missing data, if any. -

| financial/scientific calculator is allowed.

Q1 Write a short note on the following: (CO1)(10 Marks)

a) Components of Time Series
b) Altman Z Score Model
c) Value at Risk and Expected Shortfall

Q2. Answer True or False with brief expianstion.

{C01,£02,C0O3) (1 Mark each)

a) As the uncertainty about the expected cash flows increases, the value of an
asset increases.

b) The free cash flow to equity will always be higher than the dividend.

c) The free cash flow to equity can never be negative.

d) Working capital of a company is a related to its level of sales.

e) An asset with an infinite life (i.e., it is expected to last forever) will have an
infinite value.

f) If the correlation between two variables is zZero, it means no relationship
between the two variables. : ;

g) Time Series data face the problem of stationarity meaning that means and’
variance of the data varies over time.

- h) Panel data are data on one or more variables collected at the same poiht in
time.

L0

1) When examining quarterly results of a company in a seasonal business, it is
useful to compare to the preceding quarter.

J) Inflation should increase the value of stocks becau

se it increases expected
future cash flows. ’



Q3. Ecolab Inc. sells chemicals and systems, for cleaning, sanitizing, and
maintenance. It reported earnings per share of $2.35 in 2013, and expected
earnings growth of 15.5% a year from 2014 to 2013, and 6% a year after that, The
capital expenditure per share was $2.25, and. depreciation was $1.125 per share in
2013. Both are expected to grow at the same rate as earnings from 2014 to 2018.
Working capital is expected to remain at 5% of revenues, and revenues which were
$1,000 million in 2013 are expected to increase 6% a year from 2014 to 2018, and
4% a year after that. The firm currently has a debt ratio (D/(D+E)) of 5%, but plans
to finance future investment needs (including working capital investments) using
a debt ratio of 20%. The stock is expected to have a beta of 1.00 for the period of
the analysis, and the treasury bond rate is 6.50%. (There are 63 million shares
outstanding.)

o_ a) Assuming that capital expenditures and depreciation offset each other after

e\ 2018, estimate the value per share. S

oy | \ (5 Marks)(CO3)
b) What would the value per share have been, if the firm had continued to
finance new investments with its old financing mix (5%)? Is it fair to use the
same beta for this analysis? (5 Marks)(CO3)

Q4 a) XYZ Corp. currently has an EPS of $3.10, and the benchmark PE for the
company is 21. Earnings are expected to grow at 6 percent . per year.
(CO2) (5 Marks)

i. Estimate the current stock price.

ii. What is the target stock price in one year?

iii. Assuming the company pays no dividends, what is the implied return on the
company’s stock over the next year? What does this tell about the implicit stock
return using PE valuation?

b) FDP Corp. has yearly sales of $42 million and costs of $13 million. The
company’s balance sheet shows debt of $64 million and cash of $21 million. There.
are 1,750,000 shares outstanding and the industry EV/EBITDA multiple is 6.8.
What is the company’s enterprise value? What is the stock price per share?
= - P . _ (CO2) (5 Marks)
Q5 One of the main techniques for isolating the effects of seasonality is
decomposition. The decomposition methodology also uses the multiplicative
model as its basis. The multiplicative model is: | |

2



where | |
T= trend;,C = cyclicality,S = sensonality;l = irregularity

| | ing TC each
The process of isolating the seasonal effects beging by determining IC for

value and dividing the
time-series data ( TCSI) by TC. The result is
(T*C*S*1y/T*C = |
Using the S-year quarterly time-scrics data olngs Iszirr:;;lsor:; :;)uschold
appliances given in the Table, calculate the T.C and p 23110 Mark)
Shipments of Houschold Appliances
Year Quarter Shipments
1 4009

4321
4224
3944
4123
4522
4657
4030
4493
4806
4551
4485
4595
4799
4417
4258
4245
4900
4585
4533

bWNHDWNHhWNHbWNHQWNH

Q6 a) The following regression results were based on monthly data over the
period January 2008 to December 2017:

(5 Marks)(CO3)



fi = 0.00681 4 0.75815x,
se =(0.02596)  (0.27009)
1=(0.26229)  (2.80700)
p value = (0.7984) (0.0186) 2 =0.44006
Y, = 0.76214X,
" se=(0.265799)
. (=(2.95408)
p value = (0.0131) r? =0.43684
; Whéré Y= monthly rate of return on a common stock, %, and X =monthly
market rate of return,%. ‘ ‘

i) What is the difference between the two regression models?
" ii) Given the preceding results, would you retain the intercept term in the first

- model? Why or why not?
iii) How would you interpret the siope coefficients in the two models?

* b) Shown below are monthly food and beverage sales in the United States during

a recent year over an
eight-month period ($ million). Develop the equation of a trendline through these
data and use the

equation to forecast sales for October. (5 Marks)(CO2)
Month Salas ($ million)
.ﬁa_nua M. 32,5 69
Fabruary 22,274
Mareh 32,583
Aptll 32,304,
May RS-+ 17 B
Jurg 33,077
HJuly 31,989

August; 31,877
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CHAIN STRATEGY & INNOVATION

MBASC222 SUPPLY
Max. Marks: 50

Time: 03:00 Hours

Note : Answer any five questions. ‘
Assume suitable missing data, if any.

Q.1 What do '.you- ﬁnnderstand by FourthfPar"ty Logistics (4PL) Service

Provider? How it differs from 3PL? Discuss the role of 4PL for

Pharmaceutical Industry. [CO1,2,3,4] [10]

Q2. Consider the recent shortage of semi-conductor in automobile
industry. Discuss the possible short term and long-term solutions from
supply chain perspectives to overcome this issue, - [C0O2,3,4][10]
Q3. Discuss the key learnings from the “Bike & Company Limited” case.
Why BCL is not able to provide products on time to dealers and customers?
What solutions would you suggest to come out of this problem?
[CO2,3,4,5] [10]
- Q4. Discuss the impact of implied demand uncertainty on ‘the
responsiveness of a. supply chain. Explain the zone of strategic fit for a
selected sector company like ZARA of your choice. [CO3,4]1[10]

Q5. Rise and fall of Subhiksha is a case study of mis-match between the
competitive strategies and supply chain strategies, Justify. Why this
company was failed while retail sector was growing fast? Explain.

[CO2,3,5] [10]

Q6. Consi(.ier the case study, Daikin Industries, Ltd.. Justify that Daikin
supp.ly chain is a supply chain more focussed on customer responsiveness
[CO4, 51[10]

Page 10f2
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Q7. Write the short notes on any two of the following.
(a) Strategic Alliances: Advantages and Disadvantages.
(b) Visibility-Velocity-Variability in a mobile manufacturing
company. |

(c) Role of reverse logistics in a e-retail company like Amazon.
[CO1,2] [10]

Page 2 of 3
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Note: Answer any 5 questions

Q1 “Even those organisations that strive for operational excellence will

the minimum level of innovation and attention to and

to maintan
i 10 (CO1,2)

care for their employees”. Discuss

Q2. Discuss the four distinct approaches t0 product customisation
suggested by Gilmore and Pine. 10 ( CO2,3)

Q3. “Customer empathy map” is designed to induce a certain level of
customer focus by encouraging an organization to consider the world
through the eyes and ears of customer. In light of the same, discuss the
important elements of customer empathy map. 10 (CO4)

Q4. “If the company becomes aware of those customers who
demonstrate an increased likelihood of ending the relationship, then it
can take adequate measures and actions to prevent it.” Discuss this
statement in context of RFM Medel. 10 (C0O2,3)

Q5. The three value disciplines have 2 vital role to play in ensuring
success of the companies. Discuss thess value disciplines as proposed
by Treacy and Wiersema. 10 (CO,4)

Q6. Explain the various goals and benefits of using E. CRM. Also "
d1sc‘1_lss the essence of SERVQUAL model for improving the quality of
services. ‘ 10 (CO1,2)

- Q7. ABC Corp._ isa }.32B company that provides software solutions to
~ small and medium-sized businesses. They have been experiencing a

dec]ine in customer satisfaction ratings and are losing customers to
?hexr competitors. The company's management team has identified that
improving their CRM strategy could help address these issues. As the
CRM manager, you have been tasked with developing a strategy to

" improve customer satisfaction and retention. What steps would you

take to achieve this goal? 10 (CO1,3)
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Note: All questions are compulsory- .
Marks for questions aré indicated alongside

Assume suitable missing data, if any.

- ——— - .——____.—----——_—_----_--_-__.._—

Q1. Answer the following questions in brief.(any five) [10] [COI,Z]
a) Use Armstrong’s axioms to prove the soundness of the pseudo

transitivity rule.
b) What is query processor?
c) Define the term primary key with suitable example.
d) What are integrity constraints?
e)List out few salient features of open source databases.

f) What are the various types of failures that can occur 1n database?

Q2. a) What is functional dependency? Write down the rules for finding
implied functional dependencies from a set of givenFD’s.  [4][CO4]
b) Explain generalization/serialization with suitable example.[4][CO3]

(c) List the ACID properties. [2][COS5]
Q3. (a) Consider the following relation schema and set F of functional
dependencies: '
4][CO3
R = (A,B,C, D, E). l |

A ™ BC

CD —* E

B —™ D

E — A

List the candidate keys for R.

(b) A relation R(A, B, C) h
—) b F 1 i
BCNF? Justify your answ)er.aS P ABZC CRA IR 3[13\’1]1;(:06113?



A M2

H o g tamiioo . H ) M )
(¢) What is the degrec of relationship? Discuss the various types of

degree of relationship with diagram? (3][CO3]
Q4. Differentiate between: [10][COL,5]
a) Procedural and non-procedural DMLs
b) Conflict and View Serializability
Q5. Write short notes on the following: (any four) [10][CO5]

a) Weak Entity Set

b)  Derived attributes

c) Referential Integrity -
d) Mapping Cardinality -
e) Database Administrator

 END
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Note : Attempt any 5 questions from 6.
All questions carry equal marks.
Scientific calculator is allowed.
Assume suitable missing data, if any.

Q.1

(1A) What monetary and fiscal policies might be prescribed for an
economy in deep recession? [5]

(1B) Consider two firms producing smartphones. One uses a highly -
automated robotics process, whereas the other uses w

orkers on an assembly
line and pays overtime when there is heavy production demand.

(i) which firm will have a higher profit in a recession? And in a boom?
(i) which firm stock will have a higher beta? Explain with reasons.

(51[CO2]
Q.2

(2A) (i) DMK Specialists pays a current (annual) dividend of Rs. 1.00 and
is expected to grow at 20% for 2 years and then at 4% thereafter. If the
required return for Deployment Specialists is 8.5%, what is the intrinsic
valuc of DMK Specialists stock?

In what circumstances it is important to use multistage dividend discount
models rather than constant growth models? Explain ' 5]

12%4
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(2B) You expect the price of IBX stock to be Rs. 59.77 per sl%are a year

from now. Its current market price is Rs. 50, and you expect it to pay a

dividend 1 year from now of Rs. 2.15 per share.

(i) What are the stock's expected dividend yield, rate of price appreciation,
and holding-period return? [2.5]

(ii) If the stock has a beta of 1.15, the risk-free rate is 6% per year, and tk{e
expected rate of return on the market portfolio is 14% per year, what is
the required rate of return on IBX stock? [2.5] [CO1]

Q.3

(3A)

(i) A firm has an ROE of 3%, a debt-to-equity ratio of 0.5, a tax rate of

35%, and pays an interest rate of 6% on its de What is its operating ROA?
[2.5]

(ii) A firm has a tax burden ratio of .75, a leverage ratio of 1.25, an interest

burden of 6, and a return on sales of 10%. The firm generates $2.40 in

sales per dollar of assets. What is the firm's ROE? [2.5] [CO 1]

(3B)

(i) Explain the. basic assumptions on which technical analysis is
based?

(ii) What information will be provided by Candlestick chart pattern to
a trader? [5] [CO1]

Q.4 Mr. Rohit is required to make the following payments at the end of
each year for next 6 years:

Year Payment( Rs. Lakh)

25.50

19.25

18.25

17.5
19.5
17.5

AN |W N |—

He is planning to immunize his liabili

bonds: ty by investing in following Two




L

¥ Y e war — -

Bond X: 11% coupon Bond of FV Rs. 1000/ maturing after 5 years
redeemable at 5%premium and currently traded at Rs.966.38/-

Bond Y: 13% coupon Bond of FV Rs.1000/- maturing after 3 years,
redeemable at 5% discount and currently traded at Rs.988.66/-

Answer the following questions: ‘
a) If the interest rate is 12%, calculate the proportion of Funds to be

invested in Bonds X and Y, so that Mr. Rohit’s payment is immunized.

b) After one year if the interest rate changes to 14%, determine the

adjustment to be made, so that Mr. Rohit’s portfolio remains immunized.
[10] [CO2,3]

QS :

(5A) Explain the Capital Asset Pricing Model (CAPM) and its
assumptions. How does CAPM help in estimating the expected return
on an investment? [5]

~ (5B) A pension fund manager is considering three mutual funds. The first
is a stock fund, the second is a long-term government and corporate bond
fund, and the third is a T-bill money market fund that yields a rate of 8%.
The probability distribution of the risky funds is as follows:

Expected Return Standard Deviation
Stock Fund (S) 20% 30%
Bond Fund (B) 12 15

If you were to use only the two risky funds, and still require an expected
return of 14%, what would be the investment proportions of your portfolio?

[5]1[CO 2]

Q.6 Write short notes on any four: (250 words)
(6A) Systematic Risk vs Unsystematic Risk [2.5]
(6B) Risky Assets vs Risk-free Assets [2.5]
(6C) Current yield vs Yield to mafurity? [2.5]
(6D) Efficient Portfolio [2‘ 5]
(6E) Immunization strategy |
(6F) Sharpe Ratio as foli e

. a portfolio performance measure [2.5]

[CO1,2,3]
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COURSE CODE: Internet Business Models and Business
Strategies COURSE TITLE: EKTM-01

Time: 3 Hours Max. Marks: 50

Note: Attempt any 5 questions out of the given choices.
All questions carry equal marks.
Assume suitable missing data, if any.

Q.1 Explain concept of dominant revenue models with its variants and

its idea? (10][CO2, CO3]

Q.2 Examine differences between value creation and extraction in the
marketplace and in the market spacc with a suitable example?

[10][CO4, CO5]
Q.3 Suggest strategies {0 advertise and build a modest eatery business
through use of various online tools? [10][CO3, CO4]

-

Q.4 Determine the viability of Amazon.com’s business model by
appraising it on its component measures? [10][CO3, CO4]

Q.5 Examine role and impact of internet on an industry supported with
an appropriate example? [10] [CO3, CO35]

Q.6 Comment upon impact of e-markets on organizations?
[10] [CO3, CO4]

Q.7 Inves?ing.in IT infrastructure is as critical as it was in place, plant,
machlperles and egmpment’s in earlier traditional businesses.
Explain the above with examples? [10][CO3, CO4]
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EMK-01 INTERNATIONAL MARKETING VMANAGEMENT
Time: 3 Hours o A ' Max. Marks: 50

Note: Answer Any Five Questions. All questions carTy cqual marks. Agsume
suitable missing data, if any.

Ql. How Polycc_ntric.approach is important for the growth of a company in an
ternational market? Explain with the support of suitable illustrations.

’ | - (CO2, L2)
Q2. Micro Turners Group, founded in 1969 is one of the largest intcgrath automotive
component manufacturers in India. It has 12 world classlmanufactunng facilities
. mainly located in the North & West. India. Wwith the infrastructure anq technology
platform developed over 40 years; the Group is well positioned in‘the Indian Auto-and
Non-Auto component markets. | |
Moving with a growth rate of 11% CAGR, the company has posted a turnover of USD
$225 Million in last year. Micro Turners mainly aims at expanding their business
across the globes through technological excellence. We significantly feature Good
Quality, High Volume & Competitive Cost. ;
What market entry strategy you will suggest to Micro Turmers Group In successfully
selling automotive components in the United States market? Explain with the support
of suitable examples. ' (COl, L2, L3)

Q3. Write a short note on the following: (5 Marks * 2= 10) (COI, L2} "
a) International Marketing Environment
b) International Market Positioning

Use Case — A- MMG Group

MMG Group, which owns and operates McDonald's restaurants in northern and

eastern India, will invest Rs 400 - 600 crore over the next three years on reimaging of

outlets and opening new ones, its Chairman, Sanjeev Agrawal said.

McDonald's outlets have come up in several new markets, including Orissa, Assam

and Shimla, according to Mr. Sanjeev Agrawal. "This yca; our target 1s to ,o en 40

:;:;);ejﬁ;ramst.l (;:Uﬁcntlyi(V/c have 170 outlets. We shall,also be opening tkﬁ)e first
g s outlets in markets such as Ranchi, Ja i iliguri

and Gorakkhpur, besides expanding in castern Il?i?:.csl‘létilr;rf:tlf a:/%:ar:ig arrr,lasrll:::tgiLrllrgl

products of McDonald's in new u ing ;
. " e upcoming, markets s ' :
Agrawal, Chairman, MMG Group. ; in many newer ways," Sanjeev

.‘.'-, o1 4( .'v %

h;rIt[;onalld I bU]‘llah on the growth of Indian market and McDonald will maintain a

Glohslj f;:{“(gn-ﬁ:/llp with MMG Group™, Morgan Flatley, Executive Vice Presidlen t
val - Chie arketing  Officer and A i

Gomdrition g, icer and New Business Ventures, McDonald's




AN

A- ~ Attempt Q4 and 5.
assumed Use Case - A- MMG G.roup ‘ 1
g?ise\(;llt::t tsllleg‘gl:stions you will give to Mr. Sanjeev Agrawal, Cl]{ﬂrrnan,ll(‘dtMG ;:]rr;;’:;;
. ‘ 's In new upcoming markets in ,
in successfully marketing products of McDonald's m(co3, Bz_ 15

QS. How Ms. Morgan Flatley, Executive Vice Prcsidcnt., qubal Chicf Markettn?
Officer and New Business Ventures, McDonald's Corporatloq will 'm?”(l;'al'? a healthy
1 ip with MMG Group and grow McDonald's new business in India’
relationship with | p gr Con 1o s
Use Case —B- Motorsport Facility

Owners of McLaren, Lamborghini, Ferran, Porsche and other supercars and blkgs, and
motorsport enthusiast, will soon have more destinations to choose from for reviving up
their machines and Wwitnessing the magic on asphalt.

Currently there are just three such fac
Noida, Madras Motor Race Track

Combatore. The upcoming infrastructu

ilities: Buddh International Circuit in Greator
in Chennai and Kari Motor Speedway in

re spells good news also for super cars brands '_
who have often rued the lack of infrastructure in a country where the tribe of supercar

Owners is increasing steadily. India sold 509 super luxury cars (those priced above Rs

1.5 crore) in 2022, the highest for a year, breaking the previous record of 323 units jn |
2018. :

“The fact that there are so many
in emerging market like India, gives us a ot of confi

fillip to the super luxury sports car market and Lamb
its products in India in newer ways,"

The race track near Bengaluru is
‘Managing Director of rea| estate fi
enthusiast. "This will be a world-c
including a clubhouse for both driv
- 'International Marketing Consultant’ d-class motorspo
domestic and international markets " gaj ' ' .
Corporation. "

people 'seéing an opportunity in building the racetrack e

dence that the trend will give a
orghini will continue marketing
L India Head, Lamborghinj India.

Based on the assumed Use Case —B- Motorsport Facility - Attempt Q6 anq Q7
Q6. What feasible suggestigns you will

Managing Director, Bren Co
-motorsport facility in United

s
EIVE as a ‘Consultant’ tq M. Boopesh Redd =
rporation for Promoting the Upcoming world-clay,

States and Asian markets? (Co2, 12 L33;S :}

, . ~class motors ilitv ;
India for the growth of Super luxury Lamborghin; Sports cars ip In£:$ facility iy, \,\\
‘ (C03, Ll’ LZ) <
z\:‘\
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ESCM-02 INTERNATIONAL LOGISTICS MANﬁ,E/Z-E?aT
- Time: 03:00 Hours —— Max. ‘ 5
‘Note:"Assurme 'suitable’missing'data;:if any. .
7. Use of non-programmable scientific calculator is allowed.
Q.1 State TRUE and FALSE [5x1=5][CO#1,2,4,5]

a) Aggregation of inventory leads to higher safety stocks

b) Shortest path problem and -minimum spanning tree addresses same
objective |

¢) Asian Development Bank (ADB) is a Bretion Woods Organization

d) Bullwhip effect demonstrates good coordination in a supply chain

e) All variants of 40 f# containers have same volume

Q.2 Four wagons are available at station 1,2,3 and 4. These are required
at four stations I, II, IIT and IV. The mileages between various O
stations are given below. How should the wagons be transported -so <

as to minimize the total mileage covered. [8][CO#3,51 =
I u r v
1 1 4 6 3
2 9 7 10 9
3 4 5 11 7
4 8 7 8 5

Q.3 A group of global oil corripanies are jointly planning to build an o]
pipeline to connect several international capital cities, as shown
below. The miles between cities are shown on each branch.
Determine a pipeline system that will connect all the 10 capital cities
using the minimum number of lines of pipe, and indicate how many
miles of pipe will be used. [7][CO#1,3,5]

. Pagelof3



Q.4 ABC sources from hundreds of suppliers and is considering the

alle

Q.5 A automobile company has 2 warehouses which

aggregation of inbound shipments to lower costs. Truckload
shipping costs $500 per truck along with $100 per pickup. Average

annual demand from each supplier is 10,0600 units. Each unit costs
$50 and ABC incurs a holding cost of 2¢ percent. What is the

optimal order frequency and order sizz if ABC decides to aggregate

~ four suppliers per truck?

ABC has the following inputs,

Demand per product, D; = 10,000

Holding cost, h = 0.2

Unit cost per product, C; = $50

Common order cost, S = $500

Supplier-specific order cost, s; = $100 _ _
What is the optimal order size and frequency if each truck has a
capacity of 2,000 units? |

[10][CO#2,4,3,5]

ATTEMPT ANY TWO OF THE FOLLOWING

[10 x 2 =20]
experience a

demand that is not steady from one week to the next and follows

distribution given by, '

Warehouse ] ~ N (4000, 24) , Warehouse 2 ~ N (3000, 7)
where N ( X, Y) is normal distribution with mean X , sta_nda_rd
deviation Y |

Fixed setup costs are $1,000/0rder and the holding cost is 25% of the

cost of automobile, with each unit costing the company $10. Lead
time for firm is 4 weeks. Now, firm wants to consolidate the
Operations of two warehouses to achieve operational savings. Work

" Page2of3
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for customer satisfaction once the consolidation materializes. What'
ordering policy would you recommend for firm? (z = 1.65)

(CO#1,2,3,5]

Q.6 What is the objective of designing distribution network? Elaborate
on any three designs highlighting advantages or disadvantages over

others? [CO#1,3,4]

Q.7 Elaborate on the approaches to measure logistics performance. Why
is the correct measurement of the logistics performance important?

[CO#1,2,3,4]

END

Page3of3
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COURSE CODE: EMK-0% COURSE TITLE: Marketing of Services

Time: 03:00 Hours Max. Marks: 50
A
Note : All qucs‘tidnéibéu'ry' cqual marks. = . '
R ‘,?_\:Assumosultabjc,nnsmng data, 1fany. . e

Section A: Attempt any Four (5*4=20)

rvice providers manage the demand and supply of services?

Q.1 Howse
[5] [CO#2]

ce blueprint. [5] [CO#2]
different from expectation? [5]1
ervice delivery in service

Q.2 Highlight coricept of servi

Q.3 How customer perceptions are

Q.4 Briefly explain the ways to Improve s
organizations. [5] [CO#3]

Q.5 What are the implications of the services mar
[CO#1]

CO#2]

keting triangle?

Explain giving suitable examples. [5]

Section B: Attempt any Three (10*3=30)

Q.1 What factors should be kept in mind while deciding about the price
of a service. Suggest alternative pricing strategies, with examples.

| [10][CO#2]
Why do customers switch service providers? Can you do anything
a5 a marketer to prevent the customers from switching. [10][CO#3]
In what ways is distribution of services different from goods?
Identify a few services which can be distributed electronically and
discuss the challenges involved in it. [10][CO#4]
How important is it for a hotel located at a hill statiom. to use
promotions during off-season? Also identify the possible sales
promotion schemes it can offer. [10][CO#4]

Q.2

Q.3

Q.4
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COURSE CODE ESCM-04

COURSE TITLE: Service Operations Management

Time: 03:00 Hours Max. Marks: 50 |

me suitable missing data, if any. =

Q.1 (a) “Service operations is full of challenges.” Discuss. [5] [CO1]
(b) “Global economy has been changing at unprecedented pace and services have
been in centre of this transformation.” Explain. [5] [CO1]

Q.2 (a) Discuss SERVQUEL model with suitable examples. Highlight its
limitations. [5] [CO1]
- (b) Discuss factors influencing consumer behaviour in services? How they differ

w.r.t goods.? [5[ [CO2]
(a)Elucidate consumers’ decision-making process in services. [5] [CO2]

- AR
U

(b) What is meant by the term service package? What factors need to be monitored
to make it customer friendly? [5] [CO3]

Q.4 () Discuss the concept of new service development. Discuss v

' : . _ arious categories
of new services with suitable examples.

[5]1 [CO3]
(b) How market segmentation helps to meet and exceed customer satisfaction?

. ; . _ [5] [CO3]
Q.5 (a) Briefly discuss service design model service blueprinting with suitable
examples.

[5] [CO4]

formulated: how service marketing strategies can be
(1) Tourism (ii) public utility services (iii) Logistics : 51 1co
Q.6 Write short notes on any of the two: 11C0O4]

(a) Service encounter (b) Technol
_ 0gy and automation ; . ’ )
SEFTiCes. ation 1 serviceg (c) Imnovations 1n
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EMBA 1V Semester
END TERM EXAMINATION
EIT-06: BPR and ERP Implementation

Time: 3 Hours Mirks: 50 Maurks

Attempt any five Questions

of ERP. 10 Marks

Q1. Define ERP and state the recasons for the failure

anisations to achieve their goals. 10

Q2. How does ERP helps in business org
Marks

Q3. What are the diiferent ERP software’s available in the market. 10 Marks

Q4. Define BPR and the advantages for implementation of BPR. 10 Marks

Q5. What is the difference between SAP and BAAN? 10 Marks

Q6. What are the advantages of ERP Implementation? 10 Marks

Q7. What are the future trends in Business Process Reengineering (BPR)? 10

Marks




END TERM EXAMINATION
COURSE CODE: EMK-06 COURSET

Time: 03:00 Hours

Note: Question 4 is mandatory-
- All questions carry equal marks.

Q.1 How do B2B companies approac

Q.2

Q.3

Q.4

May-2023

ITLE: Sales & Distribution Management

Max. pvarks: 50

Assume suitable missing

h pricing and negotiation, and what

are some effective pricing and negotiation tactics for achieving
[10][COI]

favorable deals?

d how can
[10][C02]

What is integrated marketing communication (IMC), an

B2B companies create an IMC plan? ~

OR
What are the benefits and limitations of outsourcing sales promotion?
Which companies have effectively outsourced sales promotion efforts

(mention at least 3 companies)? [10][CO4]

Discuss 'the different types of sales promotion techniques that
companies can use and provide examples of at least three companies

that have used them successfully. [10][CO3]

S | OR |

Ste1atd actors influence organizational buying behavior, and what
ps does a company follow to make purchases? | [10][CO il]

XYZ Pyt Ld is ing m:
a leading manufacturer of air conditioners in the

Indian market. Tl
. The company has |
&fficerit air BoRdi; recently launched a
it new range
loners that are designed to reduce power ¢ ; 'Of N
onsumption by
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\ wer than expected.
the product, the sales have been slower than ex]

To address this issue, the company decides (n.lnuncll‘n' sales rpmmnf;(;n
campaign to increase the sales of its new air cmuhtn("'l.c.r} r-d‘héc.‘ ;fz
promotion campaign is planned for the summer scason, wln.u 15 the .pc( |
season for air conditioner sales in India. The company dccu.lcs; to (')f.fcr a
free installation and a 10% discount on the purchase of any air conditioner
from its new range. The promotion is advertised through various channels,
including television, newspapers, and social media.

The promotion campaign is well-received by customers, and the sales of the
new air conditioner range increase significantly during the promotion
period. However, the sales growth is short-lived, and the sales drop back to
pre-promotion levels after the promotion period ends. The company
realizes that the promotion campaign did not have a la

sting impact on the
sales of its new range of air conditioners.

Question: [20][CO3]
1. Evaluate the relevance of offerip
sales promotion technique.
2. Suggest some alternative promotional tec

used to achieve long-lasting sales.

3. What can be some of the factors that may have contributed to the slow

_sales of XYZ Pvt Ltd's new air conditioner range, despite its
Innovative features and superior quality?

g a discount and free installation as a

hniques that could have been
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End Term Examination MBA (Executive) Semester IV (2021-23)

EKTM-08
E Business and E Commerce

Time: 3 Hour Maximum Matks: 50
(1) Question No. 5 is compulsory.

(2) Attempt any Four from the remaining five.
(3) Draw neat diagrams wherever necessary.

Note: Assume suitable missing data, if any. Write your answer precisely.

Q.No.

1. Explain different models of E-Business.

2. What do you understand by Mobile Commerce ? Describe about m Commerce Mode
5 Differentiate between intranet and extranet with examples ?
4, Explain legal issues and ethical issues related to E- Business?

S: lustrate the role of cryptography in network security ?

6. . V .

Discuss the advantage and dlsadvantage of online advertisement in details?
) ?

What is EDI explain the advantages of EDI?
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EFM-08 !

Project Appraisal and Finance
Time: 3:00 Hours

Max. Marks:50
‘Note : Answe§ any; threqoutofe qUesﬁon no. 3, 4, 5 &6 A

- Question 1,2 dre gam ulSo
‘Marks are mdlt}a*tedaajD ong; W,ﬁh\'each questlon
- Scientifie: Calbulaior |§»a[lowed‘ i

| Assume: su1t‘able mlésmgnﬁatéwf any:

Q.la)A Corppany has INR100cr of debt with unlevered cash flow,of
INR38cr. Debt is to be repaid in five years with interest cost of 10%.
Minimum DSCR that company needs to maintain as per the agreement
with lenders is 1.3. In case of DSCR breach in any year, the company will

~ have to payoff the excess cash (after regular debt servicing) to lenders.
Calculate the DSCR of the company in the next five years.

: (CO3)(5 Marks)
b) Explam the Tailor method and Dedicated percentage method of
repayment in project finance. | ' (CO4)(5 Marks)

Q.2 A Project has an estimated cost of INR1000cr. Project construction .
phase is 3 years. Project is funded by 60% debt. After operation N
commerces, project will. generate an annual post tax cash flow of -

*

INR200cr. Annual deprecmtlon is 20% of the project cost. Loan is to be i
repaid in 5 years and interést on loan i56%.

a). Calculate the total debt to be serviced at-the end of thrce years of

-construction and LLCR. : (CO3)( 5 Marks)
b) Calculate debt to':be serwced at the end of each year- during
operatlonal phase L o ‘ - (CO3)( 5 Marks)

Q.3 a) What are covenants in bond agTeement’ Explam with examples
. various type of Covenants.in a bond agreement . (CO1)(5 Marks)
< | B ~ ~—~P.T.O



b) What is a technical default? What arc the options available to

lender in case of technical default?

(CO1)5 Marks)

Q.4 Explain the key risks in project finance with respect to various
counterparties involved. Draw the risk matrix for a toll road project

Q.5 Write a short note on the following:

(CO2)(10 Marks)

(CO2)(10 Marks)

a) Social Cost Benefit Analysis
b) Corporate Financing vs Project Financing

"Q.6 Answer True or False with brief explanation

(CO1,C02,C04)(1 Mark each)

a. In project finance initiatives, the borrower isa  specially ~created

b.

company which is financially and legally dependent on the sponsor
In project finance initiatives, sponsors normally offer the assets of
the SPV as collateral to lenders as security for the project’s receipts
In project finance initiatives, the degree of leverage depends on the
sponsor’s leverage.

When calculating net operating cash flow (unlevered free cash
flow), changes in net working capital are not taken into account
The funds set aside in the DSRA (debt service reserve account) are
a way creditors use to safeguard their rights toward the SPV.

Cover ratios are profitability indicators for a project finance deal.

Return on Investment from project is a secondary consideration for

the lenders.
A power plant with long term PPA can be funded through project

finance.
Operating Cash flow should not be less than debt servicing for a

financially viable project.
Project with high technology risk are not suitable for project finance.

END
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EMBA201 HUMAN RESOURCE MANAGEMENT

Time:3 Hours - M.M-50
| Note: Answer any 5 questions

Q1. In ABC Ltd. , the management looks at work and life or © work
life balance” as a very important component to retain employees in
the organization. The company is saying no to leave encashments
which leaves no choice to employees but to exhaust the number of
days off they are getting during the year. In effect, the organization
ensures employees spending quality time off work as well. Starting
this financial year, it has revised its CL policy by doing away with
leave encashments. Now the HR Department has removed the
concept of CL encashments, thereby ensuring that the employees
make use of allotted casual leaves. This is done to encourage people
to avail leaves and m_aintzﬁn a healthy work life balance "

a. Comment on the new policy adopted by ABC Ltd.
~ b. Explain the role of work life balance in retaining the employees
of the organization.
_ 10 (C01,3)

Q2. Many firms build a competency analysis framework to regulate
recruitment. In such firms, the HR department relies on automated
analysis—to gauge talent and skill gaps. '
In light of the above discuss the steps involved in the process of
. . ;competency mapping - - .. .. mre(corly 7

Q3. “New technology, hybrid workforces, an abundance of
information, and post-pandemic preferences have altered perspectives
on career development. What people want from their careers and
employer has also changed significantly” In light of this statement,
explain the role of training and development in changing the learning
landscape. 10 (CO1,3)



R34
Q4. “Without proper analytics, there is a high percentage chance that
the business could unknowingly be losing money because of processes
that just aren’t resonating or working well with its employees.
‘Measuring dita om employee pivcesses can Liglp with better insight and
overall management to people teams everywhere.” Discuss 10 ( CO3,4)

Q5. Discuss the essence of employee engagement surveys 1In
identifying the areas that are thriving and need attention? 10 ( CO0l1,2)

Q6.The contemporary approach to Human Resource planning
establishes a link between the broad range of external ‘and
organisational factors and specific personnel programs. Explain. -

N 6 ; R ‘ 10 (( CO2,4)

Q7. ABC Corporation is a leading company in the technology industry.
Due to an expansion in its business, the company is planning to recruit
several new employees in various departments. As the HR manager of
the company, you have been tasked with designing a recruitment and
selection process that ensures the selection of the best candidates.

What steps would you take to design an effective recruitment and
selection process? ’ 10 ( CO2)
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11 Semester EMBA (DSM)
End Term Examination May-2023
Course Code - EMBA-202 Financial Management
Time: 03:00 Hours Max. Marks: 50

Instructions: Attempt Any five questions. All questions carry equal marks.
Assume suitable missing data, if any.

Q1. “Financial accounting and financial management are complementary in nature.
Do you agree? Explain.

An investor deposits a sum of Rs.6, 00,000 in a bank account on which interest is

credited @9% p.a. How much amount can be withdrawn annually for a period of 12
years?

[10M] [CO1]
Q2. How is cash flow different from accounting profit? Which one is better for

Capital Budgeting decisions? Why?

Aryan Ltd. purchased a machine two years ago at a cost of Rs. 30,000. At that time
the machine was estimated to have 6 years life. [ts annual cash operating cost is Rs.
20,000. The finance manager wants to replace it with a new machine having annual
cash operating expenses of Rs. 15,000. The cost of new machine is Rs. 35,000 and
'{ts estimated life is 5 years with zero scrap value. Present scrap value of old machine
TS Rs.18, 000. Straight line method of depreciation is used by the company. Tax rate

1s 40%. Suggest on the basis of NPV whether the company should replace the old

machine if the minimum required rate of return is 10% p.a.
[10M] [CO2]

Q3. What are the various factors that affect the cost of capital? Explain.

The following is the capital structure of ABC Ltd.:

lof4
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Particulars 00,000

1 Capital (Face Value Rs.10 per share) ,00,
o e Shar ( Value Rs.100 per share) 5,00,000

9% Preference Share Capital (Face =
11% Debentures (Face Value Rs.100 per debenture) ;0(;80680
thzilned Earnings T

All these securities are traded on the capital market. Recent prices are: Debentures

@ Rs.105 per debenture, Preference share @ Rs.120 per share, Equity shares @
Rs.25 per share. The company expects to pay a dividend of Rs. 2 per share at the end
of the year which is expected to grow at 5% p.a. The company pays income tax @
30%. Calculate the company’s cost of capital using book value weights and market

value weights. [10M] [CO2]

Q4. Differentiate between Operating Leverage and Financial Leverage.

There are two companies ‘L, Ltd.” and ‘U Ltd.". They are identical in all respects
except in terms of their capital structure as given in the table below:

U Ltd. L Ltd.
EBIT (Rs.) 9,00,000 9,00,000
7.5% Debentures 20,00,000
(Rs.)
Equity 18% 20%
Capitalisation Rate

Calculate the value of two firms and illustrate using MM approach how an investor

holding 10% shares of L Ltd. will be benefitted by switching over his investment
from L Ltd. to U Ltd. L

[10M] [CO2]
Q5. Explain the significance of Walter’s model with example.

The following information is collected f;
e rom the current year annual report of ABC

20f4
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Earning of firm Rs. 18, 00,000
Number of equity shares 3, 00,000
Return on Equity 22.5%

Cost of equity 15%

What should be the dividend payout catio so as to keep the share price at Rs. 42 by
using Walter Model? Also, determine the optimum dividend payout ratio and the
market price of share at the optimum dividend payout ratio. What will the maximum

and minimum share price under this model?
[10M] [CO3]

Q6. What are the determinants of working capital?

While preparing a project report on behalf of a client you have collected the
following facts. Estimate the net working capital required for the project. Add
10% to your computed figure to allow for contingencies.

Estimated cost per unit of production: Amount per unit(Rs.)
Raw materials 80
Direct Labour 30
Overhead (exclusive of depreciation
Rs.10 per unit) 60
Total Cost 170

Additional Information:
(a) Selling price Rs. 200 per unit ,

(b) Level of activity 1, 04,000 units of production per annum,

(c) Raw materials in stock average 4 weeks

(d) Work in progress (assume 50% completion stage in respect of conversion

costs and 100% completion in respect of materials ) average 2 weeks,

(e) Finished goods in stock average 4 weeks

(f) Credit allowed by suppliers’ average 4 weeks

30of4
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i average 8 weeks,
(g) Credit allowed to debtors werage 8 we

‘ . srage 1.5 weeks,
(h) Lag in payment of wages average 1.5

(i) Cash at Bank is expeceted to be Rs. 25,000.

d on evenly throughout the year (52

You may assume that production is carric : ‘
imilarly. All sales arc on credit basis

weeks) and wages and overhcads accruc s

only.
’ ([10M (CO4]

Q7. Why ABC analysis is the most important inventory management technique?

Find out the economic order quantity and the number of orders per year from
the following information.

Annual consumption: 36,000 units

Purchase price per unit: Rs. 54

Ordering cost per order: Rs. 150

Inventory carrying cost is 20% of the price per unit of inventory.

Also, calculate from the followiﬁg information.
(1) Re-order level (2) Maximum level (3) Minimum level (4) Average level

Normal usage: 100 units per week
Maximum usage: 150 units per week
Minimum usage: 50 units per week
Re-order quantity (EOQ) 500: units
Lead time: 5 to 7 weeks

[10M] [CO4]

4 of 4
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‘Note: Attempt any five questions. -
“_All questions carry-equal marks. -
‘. Agsume suitable missing data, if any.

rtance and limitations of marketing research.

Q.1 Explain the Scope, Impo
[10] [CO1]

Q.2 Design a questionnaire for iden

Q.3

Q.4

tifying the consumer perception

towards four-wheeler or any brand. [10] [COZ]

Explain Conjoint analysis and its types. Conjoint analysis is used for
which type of strategy formulation. [10] [CO3]

Explain probability vs non probabiiity sampling techniques.
[10] [CO4]

Q.5 Ashok Leyland, a major manufacturer of Trucks and Buses, has

decided to make a foray into small passenger transport vehicles.
Their product development team has developed an MUV (Multi
Utility Vehicle) with 7 seats and 8 seats configuration. They found
that MUVs like Toyota Innova, GM Tavera and many more other
models from Mahindra and Tata Motors are doing good business in
India. The company outsourced the research to find out the market
potential for MUV in India to Market Research Group (MRG). MRG
conducted sample market studies in Salem in Tamilnadu and
Gorakhpur in Uttar Pradesh. They submitted a market potential
.report to Ashok Leyland, which suggested that there is good potential
;:uil:h?darlt(;; fK;U MUV..Based on the research report, the company

V Stile with technological collaboration with




N S R ;
Nissan India Ltd. This product is similar to Nissan Evalia. In May

2015 Ashok Leyland took a decision to withdraw Stile due to weak
sales.

Do you think that the sample market study is good practice in such

type of cases. Examine. [10] [CO4]
Q.6 Explain the various components of an effective Management
Information System. [10] [CO6]

Q. 7 Assume as an example a marketing research problem of your choice.
Assuming. you have all required data and have completed the
research, as a Researcher prepare and submit a final model final
research report for the above topic, duly incorporating all the
marketing research report guideline. [10] [CO6]

R
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Q1

* to consume and marginal propensity 10 consume

identify the potential reasons
demand pull or cost

[MM: 25][CO#1]

The table from the Surinam economy
pointers which exhibit anomalous pehavior in an econ

of h ypperinflation. Identify the drivers of inflation inlig

omy,
ht of it being a

push?
Year 1980 198l y982 1983 1984 1 985 1986 1987 1988 1989
in percent of GDP
Revenues 355 33.5 33t1 29.0 28.3 27.8 293 27.5 30.2 33.6
o.\w. grants 7.4 8.4 8.2 03 0.4 0.3 0.3 0.4 0.8 1.6
Expenditures 34.0 36.2 37.5 46.7 46.2 49.3 55.8 53.9 51.5 47.3
Current 273 27.6 286 40.9 41.2 46.2 53.6 52.0 49.7 45.7
Capital 6.7 8.7 5.0 5.8 47 3:1 22 1.9 1.8 32

Oversll balence 1.4 2.7 44 -177  -17.8 215 266  -26.3 -21.3 -13.7

-0.3 3.1 1.6 5.3 12.0 19.5 19.2 13.6 14.6 10.8

Seignorage
annual percenlage change, year-end
Base money 23 23.1 9.9 29.1 483 52.6 36.1 20.1 21.6 15.3

inflation 13.9 7.3 6.5 3.9 4.5 15.8 30.0 52.2 -1.6 20

Q.2  How consumption function is related to National Income? Explain the Keynes’s

Psychological Law of Consumption? Share your understanding about average propensity
? How as an economist you will raise the

propensity to consume? [MM 25] [CO#2]

Q.3  Fiscal policy also feeds into economic trends and influences monetary policy. When
the government receives more than it spends, it has a surplus. If the government spends
more than it receives it runs a deficit. To meet the additional expenditures, it needs to borrow
frOl’T‘l domestic or foreign sources, draw upon its foreign exchange reserves or print an
equwal.ent amount of money. This tends to influence other economic variables. On a broad
generalisation, excessive printing of money Jeads to inflation. If the government borrows
too much from abroad it leads to a debt crisis. If it draws down on its foreign exchange
reserves, a balance of payments crisis may arise. Excessive domestic borrowing by the
government may lead to higher real interest rates and the domestic private sector being




Q.4

. Revenue Deficit =

. A more comprehensive indicator of the government’s deficit is t

..sum of revenue and capital expenditure less all revenue and capi
. taken. This gives a more holistic v

. -the difference between all receipt

* Fiscal Deficit = Total Expenditure (that is Revenu

. by net lending by government. The gross prim

*How money is created? Contrast the
- fisher, John M. Keynes ang Milto

iR SRR § e

. funds resulting in the “crowding out” of private invc‘stmcnt. SOT:growth
b 10‘30‘3335 l ceur. In any case, the impact of a large deficit on long t i he 6
COmbinmlOH.OflhesebC?ﬂOis n;agative. Therefore, there is broad agreement that it lIS 4
o cienngt to run an unduly large deficit. However, in case of deve (;Pl o
Ex:f:ite;o:»ii?fh?:eed for infrastructure and social investments may bt.’.: subs;;f;n; zt’bc
sometime,s argued that running surpluses at the cost of long-term gr.owth m1ig,}i1rt1 ;::astmcturc
wiée. The challenge then for most developing country govemfnents is to me;:] it or the
and social needs while managing the government’s finances in.a way that the

fimes a

" accumulating debt burden is not too great.

When we talk about fiscal policy, it is important to clarify ce@in basic concepts. Thti: r:lsozi
elementary is perhaps the difference between revenue and capital flovx-'s‘, be they }:ecz %eas

expenditures. While there are various complex legal and ;forma.ll df:ﬁmtlons for thes e /(
presenting some simplified and stylised conceptual clariﬁcations is deemed appr.opr‘l(a 1 3 .
spending item is a capital expenditure if it relates to the creation of an asset that is likely

" last for a considerable period of time and includes loan disbursements. Such expenditures

are generally not routine in nature. By the same logic a capital receipt arises from t'he
liquidation of an asset including the sale of government shares in public sector Cf)mpanles
(disinvestments), the return of funds given on loan or the receipt of a loan. This again usually
arises from a comparatively irregular event and is not routine. In contrast, revenue
expenditures are fairly regular and generally intended to meet certain routine requirements
- like salaries, pensions, subsidies, interest payments, and the like. Revenue receipts represent

. regular “earnings”, for instance tax receipts and non-tax revenues including from sale of
- telecom spectrums. There are various ways to represent and interpret a government’s deficit.

The simplest is the revenue deficit which is just the differenc

e between revenue receipts and
revenue expenditures.

Revenue Expenditure — Revenue Receipts (that is Tax + Non-tax
Revenue) ‘

he fiscal deficit. This is the
tal receipts other than loans
iew of the government’s funding situation since it gives

s and expenditures other than loans taken to meet such
expenditures. ‘

e Expenditure + Capital Expenditure) —

(Revenue Receipts + Recoveries of Loans + Other Capital Receipts (that is all Revenue and

- Capital Receipts other than loans taken))

“The gross fiscal deficit (GFD) of government is the €xcess of its total expenditure, current
and capital, including loans net of recovery, over revenue receipts (including external
grants) and non-debt capital receipts.” The net fiscal deficit is the gross fiscal deficit reduced
ary deficit is the GFD less interest payments

while the primary revenue defi ue deficit less interest payments.

cit is the reven

Based on the narration Mmentioned aboye
. L L ,
Fiscal policy in use? Under the I

dian 1 nces of
ndian fiscal system whay are the sources ]
of Rupee and outflow of rupee? What ar Jor the lflﬂow

e the sou i 3 )
“crowding out” effect? [MM 25) [Cco# 3 rees of *ick financing?
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Q.1 a) Explain the stages of KM development. [5][CO1]
" b) Surprising decline in productivity, despite massive investment in
corriputers is a “productivity paradox™. Elaborate the statement while
discussing the importance of Communities-of Practice. [5](CO3]

- Q.2 a) Define Knowledge. Explain the different types of knowledge.

A [5][CO2]
b) Mr. Sanjay is General Manager Marketing at a top Automobile
company. He strategized the delivery growth of the company in nine
countries of Middle East Region. He was also responsible for marketing
communication, product management, planning and distribution. Mr. Sanjay
is to retire from the company very Soo. You have been given the
responsibility to interview this expert. What will be your approach to
capture tacit knowledge? ~ [5][C03]

Q.3 a) “There should be tight alignment of KM strategy to the overall
business strategy and objectives”. Comment. [5][CO4]

b) Describe the levels of intellectual capital. Provide suitable examples

[5][CO1]
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Q4 a) “A knowledge audit service ide

knowledge needs and uses in an organi
examples.

ntifies the core information anc
zation”. Elaborate citing relevan

(5][C02)

b) “Everybody gets so much information al] da

y long that they lose thei;
common sense™

. Elaborate in context of information systems. [5][C02]1

by Benchmarking? Explain its differen
types. -

ers of sharing knowledge Identify the major
barriers to knowledge sharing in your Organization, [5][CO2]

Q.6 2) Define innovation Explain its different types [5][CO1Y’

b) Distintuish betweep industry life cycle and technology life cycle.

| [5][CO4)

:

~

N

N

N
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Note: Answer any FIVE Questions.

All questions carry equal marks.

Assume suitable missing data, if any.

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

‘a) What are the important decision phases in a supply chain. Explain the

significance of each phase. [5] [COI]
b) Describe how a company achieves strategic fit between its supply chain
strategy and competitive strategy. [5] [COI]
a) Why inventory is considered an important driver of supply chain?
Discuss whether it is a liability or asset? [5] [CO2]
b) A stockiest has to supply 400 units of a product every Monday to his
customers. He gets the product at Rs. 50/- per unit from the manufacturer.
The cost of ordering and transportation from the manufacturer is Rs. 75 per
order. The cost of carrying inventory is 7.5% per year of the cost of the
product. Find (i) Economic lot size, (ii} The total optimal cost (including the

capital cost)? [5] [CO2] -

a) Explain the MRP II structure. Discuss its methodology. [5] [CO3]

b) Is "Just-In-Time" a philosophy or just a collection of techniques? Explain
your answer.

[5] [CO3]
a) How can companies identify which processes are suitable for outsourcing
and which should be kept in-house? Explain in detail. [5] [CO4]

b) Describe briefly about the factor to be considered in the selection of
location of a warehouse? [5] [CO4]

a) How can companies use technology to improve demand management and
enhance the customer experience? [5] [CO3]

b) Explain the different steps involved in the demand management process -

and how do they relate to each other? [5] (CO35]

a) Explain various key factors that companies should consider when selecting
a vendor or supplier?

. 5] [CO4
b) Explain how Wal-Mart has used cross docking to improve its su%p?l)[f chaill
efﬁ.czlency. [5]1[CO4]
Write shirt notes on

a) Role of IT in SCM.

b) Bullwhip effect. e

[5] [CO6]
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Question 1. Explain the various types of damages can
be claimed at :the?tirne of breach of contract. (CO-1,2)

Question 2. What are Consumer Disputes Redressal

Agencies? What is the pecuniary jurisdiction  of
Commissions? (CO-1,4)

Question 3. Differentiate between Coercion and Undue
influence. (CO-1, 2)

Question 4. Highlight the differences between Sale and
Agreement to Sell under Sale of Goods Act, 1930. (CO-1)

Question S. What is a Negotiable Instrument! Write in detai]
about the features of a Negotiable Instrument. (CO-1)

Question 6. Discuss the various stages in the formation ofa

Public Company. Also mention the d ) ; -
each stage. M

(CO-1, 3) 3

Ques.tion_ 7. Elucidate the various essentials of a
~ Meeting in a company.




y ~d
RS I

i3 ¥}
Sovil o

Total no. of Pages: 04

DY I

Dell.li E‘;chool of Management
Semester IV (2022-23)

End Term Examination May-2023

Course Code: EMBA-401 Course Title: Project Management
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Note: Attempt any 5 Questions.
All Questions carry equal marks (10 marks each).
Assume suitable missing data, if any. Wrile your answer
precisely.

Q 1.In a Fixed Price Incentive Fee contract, the target cost is [CO#5] -
estimated at Rs. 15,00,000 and the target fee at Rs. 3,00,000.
Ceiling price is Rs. 20,00,000. The project is over, and the buyer
has agreed that the costs were, in fact, Rs. 21,00,000. Because
the seller's costs came in higher than the target cost, the seller
shares in the added cost: 60 percent to the buyer and 40 percent
to the seller. Calculate .the Final Fee, the Final Price, and the
Point of Total Assumption.

i

.Q 2. Describe the following terms with formula to calculate the same"
" and an example each: [CO#1]
. a. Risk Priority Number
b. Risk Exposure

PN

. Q 3..You have recently taken ove::r as a Project Manager of a large
multi-year project of, a very reputed company, buildinga [CO#2] -
luxurious ABC Residential Towers in Delhi NCR. Your B 2
company has engaged multil'ple specialized contractors to work j‘
on the project. Delay in handing over possession of flats to e

Page 1of4
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Q4.

LT N R R e o

owners would result in financial penalties to be paid to.ﬂat
owners and any deviation from the stated quality of artncle.
would result in rework and further delay the project implymg.
further loss of profits. You have reviewed project progress with
engineering supervisors of the project. You have noticed that
several major works of the project are behind the schedule and |
over budget. This has been the trend for the past several months
and the situation worsened month after month. Also, the

material used by some contractors are of inferior grade and
quality, continuing with the same material would jeopardize
your company’s brand in the market. Most important part of the
work on the critical path, that had initially planned to have been
done by the Contractor-A is a bottleneck and a major risk. Also,
due to defaulting by the Contractor-A, all its labors and staff -

refused to work further without full s¢itlement of past dues and

full advance payments. Since your ccmpany has already paid to
the Contractor-A all its dues till date, it is not viable to again

pay directly to its staff. You discussed the critical situation with
your management who, instead of waiting indefinitely for the
‘Contractor-A to mend its way, agreed to get its scope of work
done from the other contractor that would be duly selected by
your company. Briefly describe how would you plan, select,

monitor and get the job done by the new contractor to avoid
issues created by Contractor-A.

Refer to the situation mentioned in the Question-3.above (you
may opt to' consider common situation in any large project-
indicate your option before responding to the question), ciearly J083]
standard project management processes are not being adhered to.
If you are the Project Manager of such project/ any large project,
what processes would you have put'in place for the effective
monitoring and controlling. Mention at least 5 parameters, with

br1e_;f description, its significance as project pregress indicator
and formulae iZany..

Page2 of 4



a. Various circumstances of project ending
b. What activities to be performed by the project management
team at project closure.

Q 6. Your management has deputed you to guide a prestigious
project XYZ to complete the project planning activities. Project
team has just given a detailed presentation to you to
comprehend project requirements. You appreciated that scope
of work is very well documented in the contract signed with the
client. Client is expecting baselined project schedule in next
steering committee meeting which is scheduled in the next
month, Project Manager is inexperienced and his team also do
not know how to develop project schedule. As an experienced
project manager, what steps, with input and output, would you

suggest the project team to take to develop and baseline the
schedule. |

Q7. You have a project to build a boundary wall of a square parKk.
Each side of the boundary wall is to take one day to build, and
Rs. 10,000 has been budgeted per side. The works on sides are
planned to proceed in parallel and have F inish-To-Finish
relationship. Today is the end of Day-3. Using the following
project status table, calculate the following, and interpret each

- answer: (i) Planned Value, (if) Barned Value, (iii) Actual Cost,

(iv) Budget At Completion, (v) Cost Variance, (vi) Cost
Performance Indicator, (vii) Schedule Variance, (viii) Schedule

Per'.formance Indicator, (ix) Estimate To Complete, (x)
' Estimate At Completion

Page'3 of 4
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In following Table: S- Actual Start, [-Actual Finish, PS-
Planned Start, PF-Planncd Finish

Activity

Day-1

Day-2 -

Day-3

Day-4

Gtatus at end
of Day-3

Side-1

Complete.
Spent Rs.
10,000

—

Side-2

S--F--PF

Complete.
Spent Rs.
9,000

Side-3

PS---PF

50%
Complete.
Spent Rs.
6,000

Side-4

g---

pS---PF

75%
Complete.
Spent Rs.
6,000 .
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Instructions: All Questions in part A,B and C are Compulsor.y.‘
Assume appropriate assumptions and state explicitly.

Part-A -
s? Define their role(s) in the context of Corporate

public listed
[5] [CO 1,5]

| Q-1 Who are independent director
Governance in details, cmng either your own organization or any

j organization.

F Q-2.  Whatis the dlfference between Personal Ethics and Organizational Ethics? Explain in

l detail citing either your own organization or any public listed organization.
» ., | - (5] [CO 1,5]

Q-3  What is the CAROLL’s Framework in the context of Customer Social Responsibility,

;_ explain in detail with example either your own organization or any public listed
- organization, ' [10] [CO1,2,4]

‘ | A
- Q-{, Explain the CSR project life cyc}e in your organization, What is the methodology used
y for CSR project selection?. What-are the domains? How these projects get executed?
: . :  What is the Monitoring and Evaluation criterion? How Impact of CSR project is
2 d?

_ measure ’ - [10] [CO 2,4,5]
) P
! Part-B
)

Q-5 Df:ﬁnc Corporate Social Performance, Corporate Social Responsiveness
Q-6  Discuss the CSR and the Firm’s Performance relationship concept

Q-7 Explain Agency Theory Stewardshi
| ) p Theory, Stakeholders Th
yY—— - —-——_Corporate-Governance, Values and Ethics. eory i the context of

i 8 g Siit;r:l:tl:odology for attracting investment citing real life example. i
-9 . a
' practices committed by Pharmaceutical companies discussed in the class.

[10] [CO 1,2,3,4,5]

4

: _ : Part-C
Q-10 Go through the following cas
Analyse i conprehomsie mai;zi-dy of NESTLE, TATA, ITC in the context of CSR,

) | ! In the context of CG, Values and Ethics
| | ‘ ' 10 [CO 2,3,4,5]
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A case study on Corporate Social Responsibility in
NESTLE, TATA, ITC

Sanjeet Singh’, Jagmeet Bawa™, Gagan Deep Sharma
Abstract

Since the times of the barter system to present era of plastic money, the
mankind has stridden out long path. There is no doubt in this that
profitability” has always been the primary force and main motivation behind
all this development. This motive actually increased cut throat competition
between the business forms. Because of this competition, the companies
stated exploiting the quality of product as well as the environmental concern
Slowly and giadually the business houses realized that they have to give back
to the society because they are surviving because of the society only. This
realization gives the birth to the concept of Corporate Social Responsibility.

However, the companies started using this concept for brand building more

than delivering it as a responsibility. The studies zlso revealed that the
companies used the corporate social responsibility for enhancing their profit
as well,

This present study- attempts to investigate about the core concept of

corporate social responsibility (CSR), and finding outits scope taking the case
study of the TATA Group, ITC and NESTLE.

Keywords: CSR, Nestle, TATA, ITC, Business mode|

Introduction

Corporate Social Responsibility refers to the

However, in the present era companies are
‘management 15 a management model i

according to which business firms take care of
the society and enwronment as their socnal
responsibility. The society pay the price-in
terms of pollution and other dlf‘flcultles for

business to run smoothly Even the human

society suffered with a number of new diseases

because of the elnwronmental changes coming

because of the industrial  pollution.

using as most of a business stretegy to take
Competitive advantage over others ‘as well as
to enhance the profit to the compa.nies

A properly executed CSR concept can result as,

huge competltlve advantages such as better

access to capital and markets boosted sales

and  profits, * operational cost reserves,
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human resource, value-added brand image,
customer loyalty,
risk

and status, improved
enhanced decision-making
management processes. The CSR can be
understood as a responsibility of business
wherein the business not only takes care of the
internal stakeholder (i.e., Shareholders,
Workers) but also the external stakeholder
(i.e., society, nature) as well.

and

The 2013 Act offers a chance to catch up and

make our corporate regulations more
contemporary, as also potentially to make our
corporate governing framework a model to
imitate for other economic systems with
similar physiognomies. The 2013 Act is more of
a rule-based legislation comprising only 470
sections, which refers that the extensive part
to the regulation will be in the form of rules.
There are over 180 sections in the 2013 Act
where rules have been arranged and the draft
rules were released by the MCA in three
batches. It is generally anticipated that the
2013 Act and undeniably the rules will stipulate
for phased execution of the provisions and in
line with this, 98 sections of the 2013 Act have
heen notified and subsequently the analogous
section of the 1956 Act ceases to be in force

(Grant, Thornton, an insight for growth 2013).
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The 2013 Act played a vital role in converting
the Corporate Social Responsibility (CSR)
activities as law from a voluntary activity. Now
the corporate houses have a legal obligation to
perform the CSR and have to spend 29 of their
profit in the societal works.

The main objective of the CSR law is to
enhance the lives of the individuals and
exceeds profit-and-loss matters for businesses
or individuals. Thus the CSR can be defined as
the responsibility to the business to defend,
sphere and foster human values and endorse

socio-economic welfare.

CSR is frequently understood interchangeably
with philanthropy. While philanthropy can be
said to be a vital vehicle for doing welfare, it is
certainly not homogeneously disseminated
across time and space within the whole social
sector. CSR is actually can be referred as the
concentrated effort by the organizations to
coexist with the society and nature (IFMR
investment newsletter (2014).

Now with the changing systems and the
activities, the previous concept of CSR has little
changed to be in more of isolated form and
profitable concept. To be known that basic six
core characteristics of CSR are as follows:

Figure.1. Care characteristics of CSR




- IVt £016; 3(4)

and

rent
countries. The gc (1) defines CSR as “th

e
accountability of Organizations

for the
influences on society." To meet the ob

jective of
social responsibility, Companies “should have in
Place a procedur

€ to assimilate social,
environment, ethical, human rights and

customer apprehensions into the business

Operations and main strategy

in vital
association with their stakeholders."

CSR in India has conventionally been
understood as 3 charitable activity. And in
keeping with the Indian tradition, it was an
action  that was executed but not
considered.(2) In the Indian contingent, the
model of CSR is ruled by clause13s 6f the
company’s act, 2013. CSR in India aims to keep
a watch on what is done with profits by the

corporate once they receive it (Cll handbook
on CSR in India 2013)

CSR Scores

Itis evident that the Manufacturing companies
score better than the other companies when it
comes to CSR. This finding shows that the issue
of CSR is more vital for the manufacturing
sector. The score for the Public and private
sector organization is similar. IT has been also
observed that the companies performing CSR

responsibly are more sustainable than the
other companies.

CSR spends is a number of money companies
spends for Corporate Social Responsibility
activities. The reports show that only 18 % of
the companies are spending the 2% of their
profit in CSR as regulated by the law. The total
spent has been Rs 4281 cr during 2013-14 by

the companies.

iyst 27 organizations are fulfilling the

; % or more of their profit
ending 2% 0

Singh 5 et al.

on the CSR. A large number of corporate are
not spending even 29 on the CSR, The average
spent of the 147 Ccompanies is 1.28% of their
profit. There are approx. 45 companies, which

' Spent average 1% on the CSR. (Utkarsh. Et.Al

2016)

The survey has been conducted to study the
spread patterns on CSR. It was found that only
18% of the companies studied are currently
complying with the 2% norm. Eventhe average
CSR spends as a percentage of PAT 147
companies are 1.28%. This ratio is quite low.

Spread and spend both are the part of the CSR
Matrix.

Spread + spend = CSR Matrix

a) While according to the study, it should not
be in the way, it happens. It should be
more concerned to the concept of
sustainability factoring the social and
covironmental influences  of steering

business. That is how profits are made.

Furthermore, the edge of sustainability has

been derived from the model of

sustainable development, which is given as
"development, which satisfies the needs of
the society without conceding the ability of

the forthcoming generation to fulfill theijr
own needs.”

b) Both the terms, i.e. Sustainability and CSR

Is intervened together. |n the project both
the scenario reanalyzed by taking the 3
Indian companies: TATA, ITC, NESTLE. Al|
these companies are at cut through
competition to  gain  their social
responsiveness. Each one of them s
engaged in CSR activities to be at the top.
However, also it has been seen that along
with contributing socially there are many
factors, which are just overlooked by them
and somewhere gives negative impact to
the society. So analyzing these factors few

ISSN: 2454-3268
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suggestions have been put on which
completely fulfills the requirements of
being a part of CSR. The present study will

f)

J, Adv, Res. HR Organ. Mgmt. 2016; 3(4)

between three companies picked as a
sample for the study
suggest the techniques for the better

attempt to achieve the following
objectives- - g) To understand the concept of CSR
Comprehensive literature survey has been
done. Secondary data has been used to
conduct the study. The study is basically a
qualitative study but the quantitative data
on the companies, i.e., Profit, spent on CSR,
has been used to the purpose of study.

implementation of CSR.

c) To investigate the objectives of Corporate
Social Responsibility.

d) To evaluate the performance of CSR by the
organizations.

e) Perform comparative analysis of CSR

HIGH

CSRSPEND

LOow

. These companies spend These _companies_spend  These  companies  spend

relatively larger amount relatively larger amount cn  relatively less on CSA and  relatively less on CR but
on CSRbut have relatively  CSR and high on CSR has lower CSR scores ako. high cn CSR seores. 20
low CSR scores. 28 scores. A3 companies fall in 50 companies fall in this. companies fall in this.

companies fall in this. this.

Figure2. CSR SCORE

understand the companies claim and the
reality on CSR.

Discussion

The subsequent three companies have been

chosen for study. The CSR pattern of the a) NESTLE
following companies has been analyzed to b) TATA
c) ITC

SN
R
Nestle

Good Food, Geod Life
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Nestlé is the world’s leading nutrition, health
and wellness company. There are 33 thousand
employees working in this organization. Nestle
is a MNC which operates in 83 countries with
the help of 461 factories. Nestle operates
mainly in the developing countries. Approx.
50% of its plants operates in the developing
countries. Nestle claims to protest the trust of
customers and stakeholders with the strong
principles. The principles and their related
policies are concerned with actions related to:

* consumers

¢ human rights and labor practices
o employees

e suppliers and customers

e " The environment

Nestlé performs within the secondary sector of
industry, producing and distributing products
to consumers. It transforms raw materialsinto
packed goods for customers to relish. Company
purchase the raw material from the primary
sector.

S

o Water: Because water is the life line for the

people of society and at the same time it
requires for the production.

27
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For example: Nestlé purchase cocoa directly
from the farmers at all its plants and use it
make the products i.e., KIT KAT, AERO® and
SMARTIES. The companies claim that by doing
this they help to increase the profit of farmers
as well as to ensure the pure quality for the
consumers. Nestle is company work in more
than 80 countries and many of these countries
are developing. Thus it
responsibility of the company to coexist by
create value for its stakeholders and at the

becomes the

same time enrich the nature. This concept
refers as Creating Shared Value. Nestle tendto
work for Creating Shared Value which includes
the following of international laws, Codes of
countries with the principles of the company.

Nestle gives special emphasis on creating value
in for nuirition, water and rural development.
These are essential to its corporate activities
and vigorous for its value chain:

A
-
.
i = =

A% : -
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* Rural development: Because the inclusive

well-being  of
communities,

farmers, countryside

workers and  minor
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businesses and contractors Is inherent to

AJC
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business as the foremost Nutrition, Health

the long-term success of Nestlé’s business and Wellness enterprise

activities.

e Nutrition: Because food and nutrition are
the foundation of health and of Nestlé's

Their major areas of contribution to the society
are vast and majorly fall under the 5 categories.

These are as follows:

Main Falling
Rural development . Follow the countryside growth framework to understand
the needs of farmers.
. Execute accountable sourcing in thei( supply chain.
. Constantly advance the green coffee supply chain.
. Roll out the nestle cocoa plan with cocoa farmers.
Water . Work to attain water efficiency and sustainability crosswise
operations.
. Advocate for effective water policies and stewardship.
. Treat the water society discharge effectively.
. Raise awareness on water conservation and improve.
o Engage with suppliers, especially those in agriculture.
Environment sustainability . Improve resource efficiency in operations.
' . Provide climate change leadership. V
. Promote transparency and proactive, long term
engagement in climate policy.
. Improve the environmental performance of their
packaging.
. Assess and optimize the environmental impact of their
products.
. Provide meaningful and accurate environmental
information and dialogues.
° Preserve natural capital, including forests.
Our people, humanrightsand | Assess and address human rights impacts in their
compliance operations and supply chain.
. Eliminate child labor in key categories.
] Ensure that all employee and stakeholders can easily report
; possible compliance violations.
] Enhance gender balance in their workforce.
o Ensure all nestle employees are covered by a certified
safety and health management system.
. Work against corruption and bribery.
. Provide training on corporate business principles, nutrition,
and environmental sustainability.
. Roll out the global youth initiative across all their
operations.
ISSN: 2454-3268 6
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=

Nutrition

Build knowledge leadership in children’s nutrition.
Lead the industry in nutrition and health research through

collaboration.
ide nutritionally sound products designed for children.

o Provi

. Help reduce the risk of under nutrition through
micronutrient fortification.

o Reduce sodium (salt) in their products.

. Reduce.sugars in their products.

o Reduce saturated fats and remove Trans fats in our
products. '

. Encourage consumption of whole grains anhd vegetables.
. Deliver nutrition information and advice on all their labels.
. Promote portion guidance for consumers.

NESTLE Products

Drawbacks of Nestle CSR

Above all the mentioned activities being
contributedto the society there has been much

uoYenPICK
e
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stle\mq i
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MAYBELLINE TALA
- il

* Instant closure of factories and mass
redundancies.

* lllegal mass dismissals.

more to take care of regarding the working, Restricting trade union rights through fake

policies, product, etc. of the company. Every

“supervisors”.

company even if tried cannot give its 100%, Discrimination through unfair wages.
The major drawbacks of this company which Nestle water workers were denied the right

violets the rule of CSR are:

to water,

ISSN: 2454-3268
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e Falsely claiming “global policy” as the
reason for not negotiating with unions.

e Lying about global policy on shift patterns.

e Excessive working hours in violation of the
law.

e Interfering in trade union elections.

. Coerclngworkerstostopthcregistrationof

a union,

Refusing the basicright to negotiate wages.

e Banning the basic right to freedom of

assembly.

Nestlé is now a serial offender when it

comes to violating when it comes to

violating international conventions and

guidelines.

Also the most recent case of MAGGI in

‘India has violated the role of CSR to the

society.

21st May 2015 — India issues the instructions
to recall of Maggie noodles: Indian food
agencies told Nestlé India to take back a batch
of Maggie Noodles from the state of Uttar
Pradesh because they found in their test that

the Maggie instant noodles are not safe for the

TATA

# .s? y;
'/‘ 1. Adv. ftes, HR Organ. Mamt. 2016; #4)

consumers to eat and falls to fulfill the norms

of food safety law of India.

Nestlé Response

Nestle responds with a denial from this

accusation and cald that Maggle is fully safe
and there is no orders like calling, back Maggie

from the market. Nestle responds with these

statements on their social media account and

the website.
ed on Nestle website stated

that “The quality and safety of nestle
foodstuffs are the highest primacies for
Company. Further the statement says that
Nestle uses stringent food safety and quality
controls at Maggie factories. The company

s that the do add glutamate or other
y come

A statement flash

claim
material to Maggie and if it found it ma
from the natural arising sources. Companies
say that they are surprised with the content
purportedly found in the sample. They depict
that the company monitors the lead content

frequently as a part of the controlling

requirements.”

TATA is the one of the prime organizations of
India. The business of TATA varies from
automobiles to Steel and telecommunications
to consumer good. TATA group has more than

ISSN: 2454-3268

80 companies under their umbrella. TATA has
the privilege to be the largest private
organization of India andthere are more than 2
Lac employees are working in its different
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companies. Ratan N Tata took the group to the
new height under his chairmanship. He
completed his study from New York's Cornell
University and starts leading the company in
1991. He also be a part of the board of the Ford
Foundation and the program board of the Bill &
Melinda Gates India AIDS
initiative. Recently he got down and
transferred his responsibilities to the Cyrus
Mistry but after some time he got down from
the post.

Foundation's

Under the chairmanship of Ratan N Tata, the
organization achieved huge laurels and
milestones and went through noticeable
phases i.e., rationalization, globalization, and
now invention, as it attempts to reach a
reported $500 billion in revenues by 2020-21,
which is equal the size of the revenue of the
global giant Wal-Mart. Almost two third of the
equity of the parent firm, Tata Sons Ltd., is held
by philanthropic trusts endowed by Sir Dorabji
Tata and Sir Ratan Tata, sons of Jamsetji Tata,
the founder of today’s Tata empire in the
1860s. Through these trusts, Tata Sons Ltd.
uses on average between 8 to 14 percent of its
net profit every year for several social causes.
TATA groups continued their CSR work even
when the economic condition was adverse. In
the decade of 90 when the company was going
through the tough period, the company keeps
increasing its CSR spent from Rs 670 million in
1997-98 to Rs 1.36 billion in 1999-2000. The
group spent 3.37% of its profit on CSR in the
year 2012-13 and apart from this they spent
300 crores for the environment safety.

Recognition of CSR

“In a free enterprise, the community is not just
another stakeholder in business but is in fact
the very purpose of its existence.” - Jamsetji
Nusserwanji, Tata Founder, Tata Group.

Singh § et al,

nCorporate Social Responsibility should be in
the DNA of every organization. Our processes
should be aligned So as to benefit the society. If
society prospers, so shall the organization” -
Manoj Chakravarti, G M - Corporate Affairs &
Corporate Head - Social Responsibility, Titan
Industries Limited in 2004.TATA group has
always been recognized as a organization
which fulfill their CSR religiously. The founder
of TATA group was a personality who always
supports the social causes. He was also a part
of the Gandhiji's campaign in the South Africa.
Tata group gave a number of science and
research centre to the country which
strengthen the growth of the country.
Jamshedirani, Director, Tata Sons Ltd, says,
"The Tata credo is that 'give back to the people
what you have earned from them'. So from the
very inception, Jamshetji Tata and his family
have heen following this principle." (A
siaterment on _the Tata group's website
www.tata.com). Tata group follow their
principles in all their companies including the
TCS which is the technological segment of the

group.

Though the TCS is a technological company but
it'’s spent the CSR fund in the education, health
and environment. The Company’s ingenuities
in the community intend to craft influence
through empowerment so that the living
standards and the quality of life improves for
the population of the society. The company
works on the following four areas to increase
the standers of living for their employees as
the other humans of the society.

e leveraging the Corporation's core
capabilities in technology

* Generating conditions for

contribution through volunteering

worker

ISSN: 2454-3268
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e Constructing synergistic association with
clients and other partners like NGOs

e Monetary sponsorships

TATA Approach towards CSR

TATA group has chosen the following channels
to drive its CSR initiatives:

e Building ground-breaking solutions to
address large-scale societal problems by
applying core competence of the
organization.

e Volunteering for assignments that address
the felt requirement of society in which
TATA operates, while associating with the
core themes of TATA’s CSR.

e Contributing in community improvement
program.

e Associating with select non-government
and civil society organizations and other
government bodies.

e Accompanying large-scale reasons such as
disaster assistance or any other reason as
unwavering by the Corporate CSR

Association.

Thus, as far as India is concerned, the
relationship between CSR and sustainability
can be summarized as follows:

e Tata Steel has embraced the Corporate
Citizenship Index, Tata organization
Superiority Model and the Tata Index for
Sustainable Development.

¢ Women empowerment programs in
association with Self-Help Groups have
been protracted to more than 700 villages.
From the year 2003 to 2006, the motherly
and toddler endurance project had an
exposure area of 42 villages in Gamharia
blockin Seraikela Kharsawa and a imitation
project was taken up in Rajnagar block. For

|SSN: 2454-3268
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delivering moveable water to countryside
communities 2,600 tube wells have been
mounted for the assistance of more than
four Lac public.

Tata Steel assists numerous social welfare
establishments which are: “Tata Steel Rural
Development Society, Tribal Cultural
Society ,Tata Steel Foundation for Family
Initiatives, National Association for the
Blind, Shishu Niketan School of Hope,
Centre for Hearing Impaired Children
Indian Red Cross Society and East
Singhbhum®.

The Tata Steel Centenary Project has been
started on the completion of the 100" year
of the TATA group. The healthcare projects
of Tata Steel comprise enablement of child
learning, vaccination and childcare,
farmstead actions, creation of
conscicusness of AIDS and many more
healthcare projects.

TATA group also contributing in the field of
economic development. The group is
working for economic empowerment with
the help of innovative agriculture
techniques. TATA group is spending INR
100 crore to establish the agriculture
development centers in Jharkhand, Orissa
and Chhattisgarh. This program is spread
over 400 villages and impacts 40 thousand
lives.

TATA group is also spending on the
National Horticulture Mission program
which is s joint project of the TATA group
with the government of Jharkhand. This
program focuses on the non-conventional
energy and the renewable energy. This
particular project impacts more than 5000
lives.

Tata Motors has implanted 80,000 plants in
the works and the communities and more
than 2.4 million plants have been rooted in
Jamshedpur district. Over half a million

10
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plants have been ingrained in the Poona
area. The organization instructed the
suppliers to use alternate materials at the
place of woods.

e The Tata Motors Grihini Social Welfare
Society provide assistances O the
employees’ women dependents; they
make a various number of products,
oscillating from pickles to electrical cable

TATA Business

Drawbacks of TATA

Tata Steel i3 the second bigrest steel
manufacturer in [urope and has ity main
steelmaking planty in the UK and
tupplyr‘. wteel and ass0Cidted servicet 1O Maor
businedsses, such as real estate ¢

vehicle manufacturer and pathaging The

&2 v
furopean prof(eiies are a subtidary of Tata
Steel Group, one of the woiid s LoD ten Sleel
manufacturers Thete a1e BD thousand

employeet works in this syitem Thete are

¢ er1ain Lyw whizh group hat to foflow. To svoud
this. i1 has put the syitemt in place 10 meet
O the irler national 1landarch fosr

ervirorrnenial management such at 80 1400)

ful A hat not yel come into the effect
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connected; thereby securing them
financially. In the city of Lucknow TATA
group created the healthcare facilities for
countryside improvement& for delivering
healthcare to the countryside zones.

Human Capital of TATA motors provides
the scholarships 211 students under the

Vidyadhanam program.

Alsoitis not working with full transparency
as It has been seen that TCS has allegedly
stolen the  health software from an
American company, Epic Systems, for
which Wisconsin federal has charged $940
million penalty( in April 2016).

The unethical case has been reported, in
which the land of Singur farmers is being
Overtaken by TATA group for its installion
of new nano factory plant. This lead to
large amount of dislocation to local people,
Upon discussion it was suggested to shift to
Gujarat

Indica, the TATA product is also under the

conflict of creating pollution as well as a
weitd notse pollution.

ISSN: 2454-32638
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\TC Limited
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Little wonder that the consumer goods
cigarette-hospitality firm's social investments
have won plenty of accolades. ITCis serving to
the 6 million people by generating sustainable
livelihood opportunities underits CSR program.
ITC has also attained the exclusive global
peculiarity of being carbon affirmative for nine
successive  years, water positive for
continuously 12 years and solid waste recycling
positive from the last seven years.

The biggest reason for ITC's CSR success is the
way almost all the major sustainability
initiatives have been wedded to the company's
core business, either providing aninput source
for a business or backward integration. As a
result, divisional chief executives and their
teams lead each of the initiatives, making them
something more than just another CSR

programme.

For instance, the famed e-Choupals initiative
led by the agri-business division is a major
sourcing base for the company's packaged food
and FMCG business, while its social forestry
programme supports the paper and
paperboard business. ITC has, in the last few
years, undertaken massive animal husbandry
initiatives covering ten lakh milk animals which
will form the base for the proposed foray into
the dairy business early next year.

ISSN: 2454-3268

There's more to ITC's CSR initiatives than these
backward linkages. In the last few years, the
company has spent considerable money on
developing renewable energy infrastructure.
And now, renewable energy meets almost 38%
of ITC's total energy requirements which is
indeed remarkable considering the huge
manufacturing base and hotels. The target is to
increase this to 50% over the next five years.

All the superior luxury hotels are indorsed

green buildings making ITC the greenest luxury

hotel.

CSR Policy
Itis ITC's policy:

* ITC is supporting countryside progress;
endorsing education; delivering
precautionary  healthcare, delivering
hygiene and drinking water; making
livelihoods for people, particularly those
from underprivileged sections of society, in
countryside and city "area of India;
protective and promoting sports.

®* To progress the compulsory competence

and self-reliance of recipients at the grass
roots, particularly of females, in the
credence that these are fun;:lganiéhrtélrs fc;:
social and economic development.

* To involve in confirmatory  action

involvements such as skill building and
vocational training, to improve

12
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employability and engender livelihoods for

persons from deprived sections of society.
To practice CSR Programmes mainly in
areas which are economically deprived and
confirm extreme development influence.

To deliver uniform opportunities to
of the Company's CSR
Programmes as merchants or employees

recipients

-on merit.

To promote sustainability in partnership
with like the
Confederation of Indian Industry (ch)

industry associations,

b
i RSN -

P
Social and
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(LRI
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through the ClI-ITCCentre of Excellence for
sustainable Development, in order to have
a multiplier impact.

ITC's  philosophy revolves around goal
“congruence with the national goals of
sustainable developmentand inclusive growth.
Various environmental &social initiatives are
taken by ITC to ensure sustainable growth.
Some of the key initiatives taken by ITC for
improvement of livelihood of disadvantaged
sections of society and the reach of initiatives

in mentioned in table below:

pary
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ITC Products
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11°C Business Portlolin

FMCG

catlan S Statenery

p—

Paper &

Hotels - Packaging

Drawbacks of ITC

e The main product of the ITCis tobacco. ITC
refers to Imperial Tobacco Company of
India Limited. It is fascinating that a
business that is now so involved in
branding continues to use its original
name, despite the deleterious relationship
of tobacco with poor health and untimely

death.

For the financial sustainability of FMCG the
group is still dependent on its tobacco

revenues.

Tobacco based products (Cigarettes)
production covers around 47% of the total
turnover of the company and contributes 80%
to the profit of the company. Thus it can be
said that that ITC is subsidizing other FMCG
(Fast Moving Consumer Goods) from the
money earning from the tobacco product

which is unethical.

e ITC using the CSR as an advertisement for
the selling of its goods. The consumer buys
its product classmate because companies

ICCN- 2454-3268
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Technology

1

say that on every purchase company will
contribute a specificamount for welfare. It
is actually impacting the mind of the buyer
and even if the buyer have an option which
is cheaper than the classmate than also he
is buying the classmate. The question arises
here whether the company is paying for
the welfare or the customer.

Findings and Conclusion

From the above secondary data analysis done
on the companies, it is found that all the
companies lack somewhere or the other in
their contribution to the society. It should be
well kept in mind that as much you take from
the society the same should be reflected back
to the society to maintain the balance. There

“are certain factors which are being analyzed

during the study:

1. Work not to be done in isolation but
integrated into the business model
2. In business, you exploit through strategy

14
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3. Doing something good and using it for the
marketing
Sustainability

5. Accountability and transpareney

6. Governance

Here lie some questions with consideration of
each company to find that whether they follow
their CSR activities accordingly or not. It is
difficult to say that every factor s fulfilled 100%
but an initiative can be taken to achieve it, so
that one can contribute to the society with its
norms and regulation.

It is true that each company has its own CSR
policies to follow, but these policies should be
made keeping in mind the major CSR
contributing factors which are essential to be

followed.

In case of NESTLE, the food products it is
offering should be beneficial to the consumers
but recently Maggi and nestle baby milk the
highest consumed products are found to be
adulterated. Also in case of NESTLEtheir lacks a
transparency factor. Also the workers being
employed in NESTLE are not given equal
treatment and eventhe wages offered to them
are far less than the potential. And hence this s
the only reason that in 2002 there exist a
NESTPREESURE movement across the world.

On the other hand if we look at the TATA

singh s et al.

group, it has been seen that there is no such
major CSR issue. This is because TATA is the
only Indian company which first brought the
concept of CSR into the business. It has all its
policy in accordance to the CSR model. The
company carries out its work keeping in mind
the CSR philosophy. | think this is the only
reason that the company is growing so fast and
making profits instead of being so much
involved in the marketing strategies. Besides
this the major drawback of TATA is the SINGUR
case which lead to the dislocation of large slot
of common people which is against the ethics
and has negatively impacted the society. But
now it is diverting from its CSR goal and moving
more towards the making of a profit.

Similarly ITC is the company which initially
startzd with the production of the tobacco,
which if seen at the ethical level is not correct.
it is a company which is still earning its major
part of the revenue by selling its tobacco
products. It has 40% of its sale for this product.
No doubt the ITC Hotels are one of the most
luxurious hotels. But on the other hand the
classmates’ registers it sells are highly costly
and emotionally force the consumers to buy it
because they are contributing Re 1to help the
poor for the education. Even the concept of e-

choupals is not so successful because of lack of
the potential guidance.

Table 1.Comparative analysis between ITC, TATA, NESTLE

Factors

| NESTLE TATA

Work in isolation and no integrated business model

Exploiting business strategy

Marketing and contributing

Sustainability

Accountability and transparency

Governance

[ EE
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